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Preface

These are the course notes of my introductory lectures on Computational Finance. This
course is a one-semester course, 4 hours per week, with exercises as homework. The level
is tailored to undergraduate students.

The choice of subjects provides an elementary introduction into the field. Basic know-
ledge on financial markets is assumed, but otherwise no specific prerequisites are needed,
except for an education in calculus and basic numerical analysis. The style is exposi-
tory. Ideas are put forward, and the methods are summarized as algorithms. Numerical
experiments and work on the exercises are essential for understanding.

The author has developed this course over the past 15 years, experimenting with different
kind of explanations and expositions. Rich experience in teaching the material has flown
into my book Tools for Computational Finance; in some way these course notes may be
seen as a condensed version of essential parts.

Koln, July 2014 Riidiger Seydel
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0. (Prologue) Financial Derivatives

A. Overview

Assets include
equities, stocks
bonds

commodities
spot market: delivery on the same date

derivatives markets:
contract today (¢ = 0)

settlement at a future date  (i.e. for t =T > 0, T" maturity, in years)

Notation: S; (or S(t)) is the market price of the asset at time ¢.

Examples of risks

1.) A stock holder wishes to sell 1000 shares in 6 months. Today’s spot price per
share is 508$. Risk: Crash! Aim: in 6 months these shares should be worth at least
50,0008 (7" = 0.5).

2.) A farmer expects in three months (in July) a crop of 800 tons of corn. Risks:
crop failure, or price decline. Aim: sell the crop today, and deliver end of July
(T = 0.25). Question: which price is adequate?

3.) Buy today a shipment of oil (in Dollar) supposed to arrive in two weeks in Rotter-
dam, where it is supposed to be sold (in Euro). Risks: delayed arrival, changes in
price and exchange rate.

4.) A company raises a loan with variable interest rate r,(t). Risk: increasing rate.

and so on.

Problem in each case: The crucial future value St is unknown today (¢ = 0). Known is
So and the “current” interest rate, and possibly further information from the past (¢t < 0).
But:
The contract is settled today and fixes a price F' at maturity 7.
Question:
What is the fair price that enables an agreement of both parties (seller and buyer)?
This main question goes along with other questions, for example, how will “the inter-
est” rate develop?
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Most of those risks can be hedged with financial derivatives, which are instruments derived
from underlying assets. Three kind of derivatives are

futures/forwards
options

swaps
Our main concern: What is a reasonable price of such derivatives?
“Financial Engineering”

For the pricing of futures/forwards typically simple computational tool suffice. But options
require sophisticated numerical algorithms.

This course: essentially numerical methods for options. Require knowledge on
foundations of stochastics,
differential equations, including partial differential equations (PDEs)

numerical analysis

Contents
Chapter 1: Modeling
Chapter 2: Random Numbers
Chapter 3: Monte Carlo Methods
Chapter 4: Standard Methods for Standard Options
(Chapter 5: Methods for Exotic Options)

B. Forwards and Arbitrage

Definition: A forward is a contract between two parties A and B to buy or sell an asset
at a future time ¢ such that A delivers the asset (spot price today Sy), and B pays the price
F.

Proposition:

When for 0 <t < T the asset does not produce income nor costs, then

F = SoerT

Here r is the interest rate of a riskless bond with time to maturity 7', and two technical
assumptions hold (see below). The proof follows from the no-arbitrage principle.

Definition: Arbitrage = risk-free profit

or more precise:

arbitrage means the existence of a portfolio, which requires no investment initially, and
which makes no loss but very likely a gain at maturity.
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In a (fictitious) idealized market, information spreads rapidly and arbitrage opportunities
become apparent and do not last long.

General assumption: There is no arbitrage! (no-arbitrage principle)

further assumptions:

1.) continuously compounded interest (factor e”’')

2.) lending rate and borrowing rate are equal.

Proof of F = Sge'T:

1. Assume F > Spe'”.
Then there is an arbitrage-strategy as follows:

t = 0: borrow Sy at the interest rate r,
buy the asset,
enter a forward contract, to sell the asset at ¢t =T for the price F.

t =T sell the asset: +F
repay the loan — Spe"”
result: £ — Spe™’ > 0,
which is a riskless profit, and hence arbitrage!
This contradicts the no-arbitrage principle = F < Spe’”

2. Assume F < Spe™”.
t = 0: Investors who own the asset sell it: 4.5,
invest Sy at interest rate r,
enter a forward-contract to buy the asset at price F’

t =T from the contract: —F
from the investment: + Spe™”
result Spe”’ — F >0  hence arbitrage

contradiction! = F > Spe"”

3. together: F = Spe'T

Remark: For two interest rates ri,rs obtain F < Spe™T; F > Sye™T;

hence: Spe™ T < F < Sye2T

C. Interest Rate

At time t, lend money N(t) for the short period At. Let r(t,At) be the corresponding
interest rate,

N(t+ At) — N(t) = r(t, At) N(¢) At.

The discount factor for the interest period from ¢ to T is

Z(t,T) = %
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For time-continuous ¢ € IR and integrable r follows:

N(T) = N(t) exp/r(w) dz.

Specifically for constant r we have
Z(t,T)=e"T1

risk-free interest rate: The rate earned on a riskless asset is the risk-free interest rate.
Take zero-bonds for its derivation out of market data.

For the following, r always means the risk-free interest rate that matches the time horizon
T—t.

D. Literature
The standard literature for this course is:
R.U. Seydel: Tools for Computational Finance. 6th Ed., Springer, London 2017

For financial background:

J.C. Hull: Options, Futures, and Other Derivates. Prentice Hall.

For colored illustrations and further explanation we recommend to consult

Topics in Computational Finance

This collection is part of the homepage www.compfin.de
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1. Modeling of Financial Options

1.1 Options

Definition (Option)
An option is the right (but not the obligation) to buy or sell a risky asset at a prespecified
fixed “strike” price K until a maturity time 7.

The terms of the option contract are fixed by the writer. The holder of the option pays a
premium V for its purchase.

Ezercising the option means to buy or sell the underlying asset for the price K according to
the option’s contract. An option with the right to buy the underlying is called call, and the
option to sell is called put.

Question: What is the fair premium V7

This depends on the price K, on the price Sy, on T, and on market data such as the
rate r or the volatility o.

The wvolatility o measures the size of fluctuations of the asset price S;, and hence indicates
the risk.

A European option can only be exercised at maturity (¢t = T'); an American option can
be exercised anytime during the life time 0 <t < T.

The value of the premium V' at maturity is easy to assess: it is the payoff.

1. Call int=T
The holder of the option has two alternatives to acquire the asset:
(a) She buys it on the spot market and pays S, or
(b) exercises the call option and pays the strike price K.
The rational holder optimizes her position.

1st case: St < K = The holder pays St on the spot market, and lets the option expire.
Then the option is worthless, V = 0.

2nd case: St > K = The holder exercises the call and pays K. And immediately she
sells the asset for the spot price S7. The profit is S — K, hence V = S — K.

In summary, the payoff of a call is

0 incase St < K
{ST—K in case St > K
=max{Sr — K,0} =:(Sp—K)*

V(ST7 T) =



Seydel: Course Notes on Computational Finance, Chapter 1  (Version 2015) 2

2. Put int=T

Analogous reasoning leads to the payoff of a put:

K —Sr incase St < K
V(Sr,T) =
0 incase ST > K
=max{K — S7,0} =:(K —S7)"
v Vv

K

T I
K S K S

Payoff of a call (left) and of a put (right), in t =T

The same arguing is valid for American-style options for any ¢t < T': the payoffs are

put: (K —S;)"
call: (S — K)™T

The value V for t < T, in particular for t = 0, is more difficult to determine. The no-
arbitrage-principle plays a central role. This mere principle leads to bounds for V. We give
some examples.

The value V (S, t) of an American option can not be smaller than the payoff, because (proof
for a put; call is analogous):

Obviously V > 0 for all S. Assume: S < K and 0 <V < K — S. Establish arbitrage as
follows: Buy the asset (—S) and the put (—V'), and exercise immediately: (+K). By
K > S+ V this is a risk-free profit K —S —V > 0, which contradicts the no-arbitrage-
principle.

Hence
VER(S,t) > (K —8)T VS,t.

Analogously:
VER(S,t) > (S — K)T VS,t.

Also the inequality
VArn > VEu

holds since an American option embraces the European option. When no dividend is paid,
the put-call parity

S + Vour = Voan + Ke 7T

holds for European-style options. This leads to further bounds, for example, to

VEL > Ke (T _ g,
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The figure illustrates the a-priori bounds for European options on assets that pay no divi-
dends for 0 <t < T (for r > 0).

\%
K
put
K S
V
call
S

Definition (historic volatility)

The historic volatility o is the standard deviation of S;. It is scaled by \/LA—t since the
data are returns sampled at At. In reality, o is not constant, but the classic Black—
Scholes-model takes it as constant. The empirical determination of market parameters
(such as o) is an ambitious task (calibration).

Notice that each option involves three prices, namely, the price S; of the underlying asset,

the strike price K and the premium V of the option.

Definition
Options with the above payoffs ¥(S) := (K — S)* or ¥(S) := (S — K)* on a single
asset are called standard options, or vanilla options. There are many other kinds of
options with other features. These other types of options are called exotic.

Examples of exotic options

Basket: The underlying is a basket of several assets, e.g., > .- w;S;(t), where S; is the
market price of the ith asset, m > 1.

Options with other payoffs, such as the binary put with

i 0 incase S; > K
ayoff =
bay 1 incase S; < K.

Path dependence: For instance, the payoff (= fOT S(t)dt — K)* involves the average
value, which depends on the path of S(t) (average price call).
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Barrier: For instance, an option ceases to exist when S; reaches a prespecified barrier
B.

On the Geometry of options

The values V' (S, t) obey the bounds sketched above, see the illustration of an American put.
V(S,t) can be interpreted as surface over the half strip 0 < ¢ < T, S > 0. This V(S,t) is
called value function. At the early-exercise curve, the surface merges in the plane defined
by the payoff.

0
" s

Importance: When the market price S; reaches this curve C;, immediate exercise is op-
timal: invest K for the interest rate r. The situation is sketched in an (S, ¢)-plane for an
American put that pays no dividend.

t
T e

— S
S K
For American call options with dividend payment the situation is analogous. The geome-

try at early-exercise curves will be discussed in Chapter 4. The curve must be calculated
numerically.

1.2 Mathematical Model

A. Black—=Scholes Market

Here we discuss mathematical models of how paths S; may behave. We list some assump-
tions, which essentially go back to Black, Scholes and Merton (1973, Nobel-Prize 1997).
These classic assumptions lead to a partial differential equation (PDE), the famous Black—
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Scholes equation:

oV 1, 0%V oV B
E‘i‘ﬁUSW—FTS%—TV—O

This equation is a symbol representing the classic theory. Each solution V' (S, t) of a European
standard option must solve this PDE, satisfying for t = T the terminal condition V' (S,T") =
U(S) where ¥ denotes the payoff.

Assumptions of the Model

1. There is no arbitrage.

2. The market is frictionless. That is, there are no transaction costs, and rates for lending
and borrowing money are equal. All variables are perfectly divisible (€ IR). And
individual trading does affect the market price.

3. The price S; follows a geometric Brownian motion (explained later).

4. Technical assumptions:

r and o are constant for 0 < ¢ < T. No dividends are paid in 0 <t < T.

Provided these assumptions hold (some can be weakened), the value function of
a European standard option solves the Black—Scholes equation. Hence a possible
approach to price a European option is to solve the Black—Scholes equation. There is an
analytical solution; this is given at the end of this chapter (with § a continuous dividend
rate).

The above model of a finance market is the classic approach; there are other market models.

The model with its geometric Brownian motion (Section 1.5) is a continuous-time model,
t € R. There are also discrete-time models, which consider only discrete time instances.
Other market models do not use the geometric Brownian motion. Such models are mainly
working with jump processes.

Numerical Tasks:
e Computation of V'(S,t), in particular for ¢ = 0, with early-exercise curve for American
options,

e Computation of sensitivities (“Greeks”), such as ,

Vv (S,0)
B

e Calibration, which means to estimate parameters that match empirical data.

B. Risk-Neutral Probabilities  (One-Period Model)

Assumptions: 0 < d < u, and the situation of the figure below. There are only two time
instances: 0,7, and two possible future asset prices Spd, Spu. Vp denotes the (unknown)
value of the option “today” for t = 0, and Sy is the current value of the asset.
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t

L s, Su
V (d) vV (u)

Consider a portfolio with two positions:
1. A shares of the asset

2. a short position of one option written on this asset

With II; denoting the wealth function, the value 11y of the portfolio at the time 0 is
HO - SO A — VO .

The number A is to be determined. At time 7" the value of the underlying is “up” or “down”
and the portfolio is
™ = SquA — v

@ = SodA — V@

V() and V(@ are fixed by the payoff. Choose A such that the portfolio becomes riskless
at time 7. That is, the value of the portfolio should be the same, no matter whether the
market price goes “up” or “down”,

™ =@ = 1.

Consequently,
SoA(u—d) =vV® — @
V() _ y(d)
oA S

With this special value of A the portfolio is riskless. Invoking the no-arbitrage principle,
we conclude: Any other risk-free investment must have the same value, because otherwise
arbitrageurs would make a riskless profit by exchanging the investments. Hence: Ilp =
HO e’"T

An elementary calculation shows
Vo=e T (Vg + V(i —q))

e’ —d
u—d

requires d < e"! < u, a condition guaranteeing absence of arbitrage*), then this ¢ induces a

with ¢ := . This formula has the structure of an expectation. In case 0 < g < 1 (this

* What are the arbitrage strategies in case d > e’ or "7 > u ?
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probability @, and

Vo =e "I Eq[Vr]

[Recall that in a discrete probability space with a probability P
Ep(X] =) i P(X =)
i=1

holds, where X is a random variable.] The special probability Q defined above is called
risk-neutral probability. For S, we have

erT —d u — erT .
EQ[ST]— o d Sou + v —d Sod = Spe""
——— ——
=q =1—¢q
or
So = e T EQ[ST] .
Summary:

In case the portfolio is risk-free (achieved by the above special value of A) and when

0<qg<1withq= e;T__dd, then there is a probability Q, such that

Vo =e "TEq[Vr] and
So = e "TEQ[ST] .

The quantity A is called Delta. Later we shall see A = ‘g—g in the time-continuous

situation. This is the first and most important example of the “Greeks”, others are
9’V oV
W, W, cee

A is the key for “Delta-Hedging”, for minimizing or eliminating the risk of the writer
of an option.

Remark: The relation
e T EqQ [ST] = So

for all T is the martingale property of the discounted process e™"'S; with respect to the
probability Q.
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1.3 Binomial Method

For the numerical pricing of options, the continuous time must be discretized. Among the
many possible approaches the tree methods have the reputation to be both simple and
robust. The simplest version uses a binomial tree. The Black—Scholes model results in the
limit when the fineness of the binomial tree goes to zero.

Define an equidistant time discretization as follows:

M: number of time steps

T
At = 57
ti=i-At, i=0,..,M
On the S;-axes we shall define discrete S; ;-values.
t
t+ At | od o Su - S,
ti+1 I
1-p p
t | -5
t, S
s

Assumptions
(Bil) The market price over one period At can only take two values,
Swu or Sd with 0 < d < u.
(Bi2) Let the probability of an “up” motion be p, P(up) = p, with 0 < p < 1.

(Bi3) Expectation and variance equal those of the continuous-time model (for geometric
Brownian motion S; with riskless growth rate r).

(Bil) and (Bi2) define the framework of a binomial process with probability. The free
parameters u, d, p are to be determined such that (Bil) — (Bi3) hold.
Remarks

1. It turns out that P is the risk-neutral probability Q. Literature on the stochastic back-
ground: [Musiela&Rutkowski: Martingale Methods in Financial modeling], [Shreve:
Stochastic Calculus for Finance II (Continuous-time models)].

2. In Section 1.5D we shall show for the continuous-time Black—Scholes model
E[S;] = Soe"!~t0)
E[S?] = Sge(2r+0'2)(t—t0)
Set S; for Sy, S;y1 for Sy and At for ¢t — t.

3. The expectations are conditional expectations since the initial values S(tg) or S; are
given.
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Conclusion for the step i — 7 + 1:

Si] = S

Sz] — SiQGQTAt (ea2At _ 1)

E[S(tit1) | S(t:)
Var[S(tit+1) | S(t:)

The expectation of the discrete model is
E[Si+1] =p Siu+ (1 —p) Sid.
Equating with the expression of the continuous-time model shows
"M = pu+ (1 —p)d.

This is the first equation for the three unknowns u, d, p. This gives

erAt_d
P=u=d

For 0 < p < 1 we require
d<e™ <.

This must hold because otherwise arbitrage is possible. (Compare with Section 1.2B to see
that p is the ¢ and represents the risk-neutral probability.)

Equating variances leads to

Var[S¢+1] = E[52+1] - (E[SH—l])Q

7

=p (Siu)? + (1 - p) (Sid)* = 57 (pu + (1 - p)d)?

; SiQGQTAt(eaZAt o 1) 7

which amounts to ,
eQrAt—l—a At — p'LL2 4+ (1 . p)d2

A third equation can be posed arbitrarily. For example, a kind of symmetry is expressed by
u-d=1.

The resulting system of nonlinear equations for u, d, p is

_ %(e—rAt + e(r—|—02)At>

u=p++p*-1
d=1/u=B—-+/p2-1

erAt —d

 ou—d
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This defines the grid of a tree. By the requirement ud = 1, this simple tree is rigid in the
sense that its parameters u, d, p do not depend on K or Sy. The tree is recombining.

S 2 Sud Su2
Sd Su

S

Since S;11 = aS;, a € {u,d} the “branches” of the tree grow exponentially.

0.45 T T

T BOOOOOO0G0 GG O O 6 O 6 O O o o o o ° o o
0.4 | @0000000000000 0 0 0 0 O O 4
WHOOOO000O 0O O O O O 6 O o o o O o ° o
BOOCOOOBOO GG 6 6 6 O 6 O O
WROOOOOOOCOGO OO O O O O O O
035 F  @0000000000000 0 0 0 0 0 O
WOOOOCOBO OO O O O O O O

ROVOOC00 G 0 0 0 O O O O O
WOOOOOBG 0O 6 6 6 O O O
WO00C000C00 0 OO O O O O O O
W0COCC0C OGO O O O O O O
WO00OGOO G 0O O O O O O O
WO0C00CO OO O O O O O O
0.25 - WOO0O0PO0 OO0 O O O O O O
0000000000 O O O O O
WO0000000 OO O O O O O O
0000000000 0 O O O O
02 Q0000000 OO O O O O O 7
00000000 O O O O O

0000000000 0 O O O
015 L 000000000 0 6 O O i
- 000000000 0 O O
000000000 0 O

00000000 0 o
01 F 0000000 0 O i
0000000 O
0006000 0

000000
0.05 00000
0000

000

oo s
0 N L L

0 50 100 150 200 250

The S-values of the grid are

Sj,i = Soujdi_j, 7=0,..

Valuation on the Tree

For t); the value of the option is known from the payoff ¥(S) = (S — K)* or (K — S)*:
Vim = ¥(S5m)

By he risk-neutral evaluation principle (Section 1.2B),

Vi= e—?"At E[V;-l-l]?
or applied to the tree:

Vii=

A PVt + (L= p)Vjiga) -
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This relation establishes a recursion, which starts with ¢ = M — 1 and prices V' at the nodes,
until Vy := Vpo.

In case of an American option, each node requires a check whether early exercise is
reasonable. The holder of the option optimizes her position by comparing the payoff ¥(.S)
with the continuation value: she chooses the larger value. This requires to modify the above
recursion. We denote the continuation value

‘/j?;_)nt — e—TAt (p‘/j—|-1,i+1 + (1 _ p)‘/j’i—i_l).

For European options, simply Vj; := V2", For American options Vj ; := max{W(S;), V™ },
or

call: ij,i = maX{(Sj’i _ K)—!—’ V’j(j;)nt
puts V1= max{(K — 5,7, Vo

(principle of dynamic programming)

Algorithm (Binomial Method, basic version)

Input: r, o, S =95y, T, K, put or call,

European or American, M

compute: At :=T/M, u, d, p as defined above
S0,0 :== S0
Siv = Soou'd 7, j=0,1,....,M
(for American options in addition S;; = Soioujdi_j

forO<i< M, j=0,1,...17)
Vj v from the payoft
Vj,i for © < M by the proper formula
Output: Vp o is approximation for V(.Sp,0)

The two different decisions, either holding or exercising the American-style option, have
a geometrical aspect: In the (S,t)-plane the nodes with Vg™ > W(S; ;) characterize the
continuation area, and the other nodes are in the stopping area. How the early-exercise
curve separates the two areas will be discussed in more detail in Chapter 4.

Advantages of the Method
— easy to implement,

— robust, and

— can be adapted to other types of options.
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Disadvantages of the Method
— accuracy is rather poor:

error O(1/M) = O(At), which is linear convergence. (But the accuracy matches
practical requirements.)

— In case Vj is needed for several values of S, the algorithm must be restarted.

Enhancements

— To avoid oscillations, generalize ud = 1 to ud = v and choose v such that for t =T
one node of the tree falls on the strike value K. Then the parameters depend on K
and Sp, resulting in a more flexible tree and improved accuracy; extrapolation makes
sense.

— Discrete dividend payment at time ¢tp: Cut the tree at tp and shift the S-values by
—D. As result, evaluate the tree at Sy := Sy — De~"'?. (Illustrations in Topic 1 and
5 in the Topics for CF.)

— Sensitivities (“greeks”) are calculated by difference quotients.

Problems

In the higher-dimensional case (e.g. basket option with three or more assets) it is not
obvious how to generalize the tree.

In the literature the above method is often called Cox-Ross-Rubinstein method (CRR).
Other extensions: trinomial method; “implied grid” for variable o(S,1).

1.4 Stochastic Processes

This section introduces continuous-time models as they are used by Black, Scholes and
Merton. Essentially we discuss (geometric) Brownian motion.
History

Brown (1827): studied erratic motion of pollen.

Bachelier (1900): applied Brownian motion to model asset prices.

Einstein (1905): molecular motion

Wiener (1923): mathematical model

since 1940: It6 and others

Definition  (Stochastic Process)

A stochastic process is a family of random variables X; for t > 0or 0 <t <T.
Each sample results in a function X; called path or trajectory.
Definition (Wiener process / standard Brownian motion)

W, (notation also W(t) or W or {W,};>0) has the properties:

Wy is a continuous stochastic process
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(d) All increments AW, := Wi a¢— Wy (At arbitrary) on non-overlapping t-intervals
are independent.

(c) means: W, is distributed normally with E[W;] = 0 and Var[W,;] = E[W?] = t.

Remarks

1) “standard”, because it is scalar, driftless, and Wy = 0.
X = a+ pt + Wy with a, p € R is the general Brownian motion (with drift u).

2) Consequences (also for Wy = a):
EW:, — W] =0, Var[W, — W] =t—s fort>s.

(show this as exercise)

3) W; is nowhere differentiable! Motivation:

A | Var[AWt]:(_)z. oL

(At)? At
tends to oo for At — 0.

4) A Wiener process is self-similar in the sense:

Wae £ \/BW,

(both sides obey the same distribution). More general, there are fractal Wiener pro-
cesses with

Var {AWt} 1 1

d
Wﬁt = /BHWt )

for the standard Wiener process H = % H is the Hurst-exponent. Mandelbrot postu-
lated that finance models should use fractal processes.

Importance
The Wiener process is “driving force” of basic finance models.

Discretization/Computation

So far we have considered W; for continuous-time models (¢ € R). Now we approxi-
mate W by a discretization. Take At > 0 as a fixed time increment.

ti=j-At = Wi = zj:(Wmt —Wai—1)ae) = iAWk
k=1 k=1
The AW}, are independent, and by Remark 2 satisfy
E(AW,) =0, Var(AW,) = At.
In case Z is a random variable with Z ~ N(0,1) [Chapter 2], then

ZNV At ~ N (0, At).

Hence

Z VAt for Z ~ N(0,1)

serves as model for a discretized Wiener process of the AW.
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Algorithm  (Simulation of a Wiener process)

start:  to =0, Wy =0; choose At.
loop 7 =1,2,...:

tj=tj_1+At

draw Z ~ N(0,1)

W, =W;_1 + ZVAt

The W; denotes a realization of W; at ¢;.
15 T T T T T T T T T

05 B

-05 + -

15 I I I I I I I I I
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

a simulation for At = 0.0002

Stochastic Integral

Motivation:

Assume the price of an asset is described by a Wiener process W;. Let b(t) be the
number of assets in the portfolio at time ¢. For simplicity assume that there are only
discrete trading times

O=to<ti1 <...<ty=T.

Hence b(t) is piecewise constant:
b(t) = b(tj_l) for tj—l <t tj . (*)

The resulting trading gain is

N
> b(tj 1) (W, =Wy, _,) for0<t<T.
j=1

Now we approach the time-continuous case and assume arbitrary trading times. The ques-
tion is whether the sum converges for N — oco?
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For arbitrary b the integral
T
/ b(t) AW,
0

does not exist as Riemann—Stieltjes integral. Sufficient for its existence would be a finite
first variation of W.

N
We show: The first variation ) |[W;, — W;,_,| is unbounded.
j=1

Proof:  Clearly

N N
Z |Wtj - Wtj—l |2 < m?X(|Wtj - Wtj—l |> Z |Wtj - Wtj—1|

J=1 J=1

for any decomposition of the interval [0,7]. Now At — 0. The second variation is
bounded, it converges to a ¢ # 0 (see the Lemma below). By the continuity of W4,
the first factor of the right-hand side goes to 0, and hence the second factor (the first
variation) to oo.

It remains to investigate what happens with the second variation. The relevant type of
convergence is convergence in the mean,

lim E[(X — Xn)?)]=0,

N —o0

written as: X = Lim. Xy.
N—o0

It remains to show:
Lemma

Denote by tg = téN) < th) <. < t%v) = T a sequence of partitions of the interval

to <t < T, with oy := 1}1%{((1&5.]\0 — ™). Then:

N
Lim. (Wt(z\r) - Wt(N) )2 =T — to
j .

on—0 - j—1

Proof.  Exercises

Remark: Part of the proof of the lemma comprises the assertions
E[(AW;)? — At] =0

Var[(AW;)? — At] = 2 - (At)2

In this probabilistic sense the random variable AW? behaves similarly as At. Symbolically
this is written

(dW,)? = dt
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and will be used for investigations of orders of magnitude.

The construction of an integral for our integrands b
t

/ b(s) IV,

to
is based on fti) b(s)dW; := E;\jzl b(tj—1)(Wy, — Wy,_,) for all step functions b in the sense
of (x).
For more general b we take step functions converging to b in the mean. For literature see
[@ksendal: Stochastic Differential Equations], [Shreve: Stochastic Calculus].

1.5 Stochastic Differential Equations

A. Integral Equation

Definition  (Diffusion model)

The integral equation

t t
Xt:XtO-i—/ a(XS,s)ds-i-/ b(Xs,s)dWs

to to
for a stochstic process X is called It6 stochastic differential equation (SDE). Its sym-

bolic notation is
dXt = CL(Xt, t) dt + b(Xt, t) th

Solutions of this stochastic differential equation (that is, of the integral equation) are
called stochastic diffusion, or Ité-process. The term a(Xy,t) is the drift term, and
b(X¢,t) is the diffusion.
Special cases
- The Wiener process is included with X; = W, a =0, b= 1.
- In the deterministic case b = 0 holds, i.e. djit = a(Xy,t).

Algorithm (analogous as for the Wiener process)

is based on the discrete version
AXt = CL(Xt, t) At + b(Xt, t) AWt
with AW and At as in Section 1.4. Let y; denote an approximation of X_.

Start:  to, yo = Xo; choose At.

loop: j=0,1,2,...
tiv1 =t + At
AW = ZVAt with Z ~ N(0,1)
Yyi+1 = y; +aly;, t;) At 4 b(y;, t;) AW
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Since dW? = dt, we expect an order of only %; we come back to this in Chapter 3.

B. Application to the Stock Market

Model (GBM = geometric Brownian motion)

dSt = /LSt dt + O'St th

This is an Ito-stochastic SDE with a = pS; and b = ¢S;. This SDE is linear as long as u
and o do not depend on S;. For Black and Scholes y and o are constant.

(This fills the gap GBM in Assumption 3 in Section 1.2 in the market model.)

1 is interpreted as growth rate, and o as volatility. The relative change is described by

d
45 _ L dt+oaw, .
St

The classic theory of Black, Scholes and Merton (and a significant part of this chapter)
assumes a GBM with constant u,o.

(Bachelier’s model was
dS; = pdt + o dWy,

here the price S; can become negative.)

Recommendation

Implement the algorithm (with Z from Chapter 2), and integrate the GBM for a
chosen set of parameters (for instance p = 0.1, 0 = 0.2) 10000 times until ¢t = 1. Then
distribute the obtained values S; in subintervals, and count the values. This yields a
histogram reflecting a lognormal distribution (see figure).

1000 T T T T T T

900 q

800 - — 4

700 - q

600 — 4

500 - q

400 q

300 -

200 -

100

0 I

120 140
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Consequence:
From AS
we conclude for the distribution of the %:

1) distributed normally
2) E[%7] = pAt
3) Var[£2] = o2At
together: % ~ N (uAt, o?At)
This offers a way to calculate volatilities o empirically: For a sequence of trading days collect

the data %, call them R; (returns), where R, and R; are measured at time distance At.
Assuming that GBM is appropriate to describe the returns, ¢ is obtained as

1
o= x standard deviation of the R; .

VAL

This specific value of o, based on data of the past, is called historic volatility (for the implied
volatility see the Exercises.)

S under GBM can be approximated by the above algorithm as long as At > 0 is small
enough, and S > 0.

Other models

GBM is continuous, and its density has thin tails, which often fails to describe real
asset prices observed in the market. Therefore also other stochastic processes are used,
as jump processes, or processes with stochastic volatility. In the following, we stick to
the It6-SDEs, that is to continuous processes driven by Wiener process.

Mean reversion (often used for interest rate models)

Here R denotes an average level of interest rate. Let us investigate the SDE
dry = a(R—ry)dt + O’thB dW,, a>0
for a stochastic process r;. That is,

a(ry,t) = a(R —ry)  mean reversion drift

b(re, t) = o Ttﬁ

with suitable parameters R, a, 0", 3 (obtained by calibration). This has the effect on
the drift:

ry < R = positive growth rate
re > R = decay

This effect is superseded by the stochastic fluctuations, but essentially the mean
reversion takes care that the order of magnitude of r; stays close to R, or reverts
to R. The parameter « controls the intensity of the reversion.
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For g = %, i.e. b(rs,t) = 0"\/1¢, the model is called CIR model (Cox-Ingersoll-

Ross model).
A simulation 7; of the Cox-Ingersoll-Ross model for R = 0.05, a =1, = 0.5,
ro = 0.15, 0" = 0.1, At = 0.01

0.16 T T T T T T T T T

0.12 - b

0.1 - 4

0.08 b

0.04 b

0.02 - B

0 1 2 3 4 5 6 7 8 9 10

The next extension is to:
Vector-valued processes

Assume W; = (Wt(l),...,Wt(m)) is a m-dimensional Brownian motion. Define for
1=1,...,n

. . t m t
X0 = X0+ [CaXeyds+ Y [ baes) i,
to k=1"%o
with vectors

xW ar (X, xM s

x™ an (X5, X )
and matrix -
=1,....m
((bivk))izl,...,n
which involves the covariances of the vector process.

Example 1 Heston’s model

dS; = pS; dt + \/v;S; AW
dvy = k(0 — vy) dt + 0V /oy AW P

The stochastic volatility ,/v; is defined via a mean reversion for the variance v;.
This model (with n = 2 and m = 2) involves parameters k, 6, oV¥ola the correlation p
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between W) and W) an initial value vy and a growth rate p which may be given by
a risk-free valuation concept. Altogether, about five parameters must be calibrated.
Heston’s model is used frequently.

Example 2  volatility tandem

dS =oSdwt
do = —(o — ¢)dt + aoc dW®
d¢ = B(o — () dt

0.26 T T T T

0.12 1 1 1 1

0 0.2 0.4 0.6 0.8 1
a = 0.3, § = 10; dashed: ¢

Hint: [ocal volatility means

o=o0(t,S).

C. Ito Lemma

Motivation (deterministic case)
Suppose z(t) is a function, and y(t) := g(z(t),t). The chain rule implies
d dg dx 0Og
at? " or T at "ot
With dz = a(xz(t),t)dt this can be written

_(%9,,9%
dg_(@xa+3t) dt

Lemma (Ito)

Assume X, is an It process following dX; = a(X;, t) dt+b(Xy,t) dW; and g(z,t) € C?.
Then Y; := g(X4,t) solves the SDE
dg 0Og 10% dg

dY; = [ =Za+ =2 + ==2Zp? | dt + —Zb dW, .
‘ (Gxa+3t+28x2) +8x We

That is, Y; is an Itd process with the same Wiener process as the input process X.
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Sketch of a proof:

t—t+ At

S (X +AX A+ A =Y + AY
X—>X+AX} gX +AX,t+ AL =V +

Taylor expansion of g gives AY as follows:

69 dg
AY = X AX + 5t 99 At + terms quadratic in At, AX

Substitute
AX =aAt+bAW

(AX)? = a®> At? + b AW? +2ab At AW
N——
=0(At)

and order the terms according to powers of At, AW to obtain

[ 9g dg 10% , dg
AY_<8Xa+8t+ S0 ) At+b 2L AW +tho.

Similar as in Section 1.4, AW can be written as sum, and convergence in the mean is applied.

See [Dksendal].

D. Application to the GBM model

Assume the GBM model
dS =pSdt +o0SdW

with p and o constant, i.e. X =5, a=uS, b=05.
1) Let V(S,t) be smooth (€ C?)

at + Y 554
a5t o T o5z ) 4+ ggoddV

ov 8V 1 0%V ov
d — 2 2
= \% < S ) 59

This is the basic SDE which leads to the PDE of Black and Scholes for the value
function V (S, t) of a European standard option.

2) Y: :=log(S:), i.e. g(x) =logx

dg 1 0%g 1
Y9 _ - d 27 - -
= r oz 0 B2 x?
2
=  d(logS,) = (u—"—) dt + o dW,

Hence the log-prices Y; = logS; satisfy a simple SDE, with the elementary

solution:
2

V=it (u= G ) 0= t0) + oW~ Wi,



Seydel:

Course Notes on Computational Finance, Chapter 1  (Version 2015) 22

S 2
= logS; —log Sy, = logS—t = <M— %) (t —to) + (W — Wy,)
to

2

= Sy =5 exp Ku— %) (t —to) +o(W: — Wto)]

For tp = 0 and W;, = Wy = 0, this results in

Sy = Spexp [(u — %2) t+ O’Wt:|

In summary, S; is exponential function of a Brownian motion with drift.

Implications for ¢y = O:

a) log S; is distributed normally
b) E[log Si] = Eflog So] + (11— %)t + 0 =log Sp + (1 — T )t
c) Varllog S;] = Var[oW,] = o2t

summarizing a) — ¢) means
St O'2
log = ~ N ( (n— 5)t, o°t
o83 ((u 5 )t o )

d) This leads to the density function of Y = log S
[_ (log(St/So) — (1 — 0?/2)t)*

f(v) = fog$,) = —

1
ex
oV 27t P

And what is the density of S;? The probabilities of S and Y are the same and hence
also the distribution integrals. We apply the transformation theorem (Section 2.2B)
for Y :=log S and have the integrands

f(Y)dy = f(log S)% ds.

—_———
f(St)
Consequently, the density f of the distribution of the asset price S; is
1 (log(S¢/So) — (n — 0?/2)t)?
S, t; So, p,0) = ————= exp | —
f(Se,t; So, i, 0) Siovant p{ 5.2

This is the density fapwm of the lognormal distribution. It describes the probability of
the transition (Sp,0) — (S, t) under GBM.

e) Now the last gap in the derivation of the binomial method can be closed: There
the continuous model refers to our GBM. As an exercise, realize

oo

E(S) = /Sf(. .) dS = S enli=to)

0
E(S?) = /SQf(. L) dS = §2 el +2m)(t=to)
0
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1.6 Risk-Neutral Valuation

(This section sketches basic ideas and concepts. For a thorough treatment we recommend
literature on Stochastic Finance such as [Musiela&Rutkowski: Martingale Methods in Fi-
nancial modeling))

Recall (from the one-period)

Vo = e_TTEQ [\I/(ST)]
where Q is the artificial probability of Section 1.2 and W(S7) denotes the payoff.
For the model with continuous time formally the same relation holds. But Q and Eq are

different. It turns out that the density of Q is given by f(St,t; So,r, o), with p replaced by
r. Hence the relation

Vo = e—rT/ U(St) - f(Sr,T; So,r,0)dSy
0

holds for the GBM-based continuous model. In the following we outline the arguments that
lead to this integral.
Fundamental Theorem of Asset Pricing
The market model is free of arbitrage if and only if there is a probability Q such that
the discounted asset prices e "' S; are martingales with respect to Q.
Probability space

The same sample space and o-algebra (2, F) underlying a Wiener process are not
specified. The chosen probability P completes (€2, F) to the probability space (€2, F, P).
The independence of the increments AW of the Wiener process depend on P. A process
W can be a Wiener process with respect to P, but is no Wiener process with respect

N

to another probability P

Martingale

A martingale M; is a stochastic process with

E[M; | Fs] = My for all ¢, s with s <,
where Fj is a filtration, i.e. a family of o-algebras with Fy C F; Vs < t. A filtration
serves as model for the amount of information in a market.

E[M, | Fs] is a conditional expectation. It can be regarded as expectation of M,
conditional on the amount of information available until time instant s.

M; martingale means that M, at time s is the best possible forecast for ¢t > s.

Martingale with respect to a probability Q: Eq[M; | Fs] = M, for all t,s with s <.

Examples of martingales
1) any Wiener process
2) W2 —t for any Wiener process W.
3) A necessary criterion for martingales is the absence of drift.

Essentially, drift-free processes are martingales.
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Market Price of Risk

dS =puSdt+oSdW
=rSdt+ (p—r)Sdt+oSdW

—rSdt+ oS [“_’“dﬁ dW]

g

The investor expects u > r as a compensation for the risk, which is represented by o.
@ — 7 is the excess return.
w—r

= = “market price of risk”
o

= compensation rate relative to the risk

Hence
dS =rSdt+ oS [ydt +dW] (%)

For the probability P the term in brackets represnts a drifted Brownian motion and
no (standard) Wiener process.
Girsanov’s Theorem

Suppose W is Wiener process with respect to (2, F,P). In case =y satisfies certain
requirements, there is a probability Q such that

¢
W, =W, —I—/ vds
0
is a (standard) Wiener process under Q.

(probability theory: Q results from the Theorem of Radon-Nikodym. Q and P are equiva-
lent. For constant 7 the requirements of Girsanov are fulfilled.)
Application
Substitute dW? = dW + ~dt in (x) gives
dS =rSdt+oSdW".
This is a change of drift from p to r; o remains unchanged. The path of S; under the
probability Q is defined by the density f(...,r, o). The transition from f(...,u, o) to

f(...,r,0) amounts to adjusting the probability from P to Q. The discounted e~ "*S,
is drift-free under Q and Martingale. Q is called “risk-neutral” probability.

Trading Strategy

Let X; be a stochastic vector process of market prices, and b; denotes the vector with
the numbers of shares held in the portfolio. Hence b¥ X, is the wealth process of the
portfolio.

Example

where S; is the market price of the asset underlying an option, and B; is the value of
a risk-free bond.



Seydel: Course Notes on Computational Finance, Chapter 1  (Version 2015) 25

Notation: V; is the random variable of the value of an European option.
Assumptions:

(1) There is a strategy b; replicating the payoff of the option at time 7',
Wi Xt = Payoff .

b must be Fi-measurable for all ¢. (That is, the trader cannot see the future.
Note that the value of the payoff is a random variable.)

(2) The portfolio is closed, no money is inserted or withdrawn. This is the self-
financing property defined as

(3) The market is free of arbitrage.
(1),(2),(3) =V, =bl'X, for 0 <t < T (otherwise there would exist arbitrage)

We consider a European option and a discounting process Y; with the property that Y; X;
is martingale. Then one can show that also Y;b! X, is martingale (both with respect to Q).

Implications for European options for ¢t <7

YV, =YbI X, =EQ[Yrb Xr | F (martingale)
= EqQ[Yr - Payoff | F;] (replication)

When the payoff is a function ¥ of Sp (vanilla-option under GBM), then
= Eq[Yr - ¥(S7)]

(because W — Wy is independent of F;). Discounting with Y; = e~ implies specifi-
cally for t =0
1-Vo=Eqle™™ - (St)]

and hence o
Vo = e—rT/ U(S7) - f(Sr,T; So,r,0)dSt .
0

This is called risk-neutral valuation.

Literature on Stochastic Finance: [Elliot & Kopp: Mathematics of Financial Markets],
[Korn: Option Pricing and Portfolio Optimization|, [Musiela & Rutkowski: Martingale
Methods in Financial modeling], [Shreve: Stochastic Calculus for Finance].

Outlook

We so far have investigated continuous processes S; driven by W;. To compensate
for occasional drastic changes in the price of underlying, one resorts to models with
stochastic volatility, or to jump processes.
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Supplements

The “Greeks” mean the sensitivities of V (5, ¢; o,7) and are defined as

0%V ov ov ov
Delta = —, gamma = ——-, theta= vega = —, rtho = —

aS 052’ ot’ do

Black—Scholes Formula

For a European call the analytic solution of the Black—Scholes equation is

log £ + (r—0+5) (T 1)
oT —t
log £+ (r—0-%) (T -1

oI —t
Vo(S,t) = Se TV E(d)) — Ke "IV F(dy),

d1 =

dg Z:dl—O' T—t=

where F' denotes the standard normal cumulative distribution (compare Exercises), and § is
a continuous dividend yield. The value Vp(S,t) of a put is obtained by applying the put-call
parity

Vo = Vo — Se 0T 4 ge (T

from which
Vp = —Se TR (—d)) + Ke " TV (—dy)

follows.
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2. Computation of Random Numbers

Definition (sample from a distribution)

A sequence of numbers is called sample from a distribution function F', if the numbers
are independent realizations of a random variable with distribution F'.

Examples

If F is the uniform distribution on the interval [0, 1], then we call the samples from F'
uniform deviates. Notation: ~ U]0,1].

If F' is the standard normal distribution, then we call the samples from F' standard
normal deviates. Notation: ~ N(0,1).

The basis of random number generation is to draw numbers ~ [0, 1].

2.1 Uniform Deviates

A. Linear Congruential Generators

Choose a,b, M € N, a # 0, a,b < M, and define for Ny € IN ( “seed”) a sequence of numbers
by

Algorithm (linear congruential generator)

choose Ny .
For i = 1,2, ... calculate
Ni = (aNi_l -+ b) mod M

Define U; € [0,1) by

&

i

U; =

=

The numbers U; are used as uniform deviates.

Obvious Properties
(a) N; € {0,1,..., M — 1}
(b) The sequence of N; is periodic with a period p < M.

(because there are not M +1 distinct numbers N;. Hence two out of { Ny, ..., Nas}
must be equal, N; = N;;,, with p < M. p-periodicity follows.)
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Literature: [D. Knuth: The Art of Computer Programming, Volume 2]

The above numbers U; are no real random numbers, but are deterministically defined and
reproducible. We call such numbers pseudo random. In this chapter, we omit the modifier
“pseudo” because it is clear from the context. The aim is to find parameters M, a,b such
that the numbers U; are good substitutes of real random numbers.

Example
M = 244944, a = 1597, b= 51749

Useful parameters a, b, M are in [Press et al.: Numerical Recipes].

Question: What are “good” random numbers?

A practical (and hypothetical) answer: The numbers should pass “all” tests.

First requirement: The period p must be large, hence M as large as possible. For
example, in a binary computer with mantissa length [, one aims at M ~ 2!. Suitable a,b
can be derived with methods from number theory. [Knuth].

Second requirement: The numbers must be distributed as intended (density f, expecta-
tion p, variance 02). Check this by statistical tests as follows: First apply the algorithm
to produce a large number of U;-values. Then

(a) Calculate the mean i and the variance §2 of the sample. Check i ~ p and §% ~ o2.

(b) Test for correlations of the U; with previous U;_;. For example, correlation could
mean that small values of U are likely to be followed again by small values. In this
case the generator would be of low quality.

(c) Estimate the density function f of the sample, and check for f ~ f. A prototypical
test is as follows: Divide the unit interval [0, 1] into equidistant subintervals

kAU <U < (k+1)AU,

where AU denotes the length of the subintervals. (For other distributions choose
an interval that contains all sample points U;, and the subintervals will be defined
accordingly.) When altogether j samples are calculated, let ji be the number of
samples that fall into the kth subinterval. The probability that the kth subinterval is
hit is 37’“ This should approximate

(k+1)AU
/ f(x)dx (f =1 for the uniform distribution) .
kAU

This integral is ~
AUf(U),

with U in the kth subinterval. Hence a good generator should satisfy

AVS() =2 L av o).

at least for small AU. The empirical density on the kth subinterval is

;o Jk
f_jAU'
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Third requirement: The lattice structure should be OK. To check this, arrange vectors
out of m consecutive numbers:

(Ui7 Ui+17 SR Ui-l—m—l)

For U ~ U]0, 1], these points should fill the m-dimensional unit-cube as uniformly as possible.
The sequences of points/vectors lie on (m — 1)-dimensional hyperplanes. Trivial case: M

parallel planes through U = {7, ¢=0,...,M — 1 (any of the m components).

A bad situation occurs when all points fall on only a few planes. Then the gaps between
the planes without any points would be wide. This leads to analyze the lattice structure of
the random points. The focus is on the smallest number of planes, on which all points in
[0,1)™ “land.”

Analysis for m = 2: In this planar case, the hyperplanes in (U;_1, U;)-space are straight
lines z2oU;_1 + z1U; = A, for parameters zg, z1, A. From

N; = (aN;—1 + b) mod M
=aN;,_1+b—kM for kM <aN;_1+b<(k+1)M

conclude for arbitrary numbers zg, z;

z2oN;—1 + 21 N; = zgN;—1 + =1 (CLNi—l +b— k‘M)

= Ni—l(ZO + CL21> + Zlb — Zlk‘M

zp + az
M

::c:c(i)

- Zlk) +Zlb

4

= M (N;—1

Dividing by M leads to
20Ui1 + 21U; = c+ Zle_l ,

a straight line in the (U;_1,U;)-plane. For fixed zg,z; this defines a family of parallel
lines/ “planes,” parameterized by c.

Question: Is there a family of such lines (planes) defined by a pair (zg, 21), such that only
few lines (planes) cut the unit-cube? The minimal number of parallel hyperplanes holding
all points is the worst case.

For analyzing the number of planes, the cardinality of the ¢’s matters. To find the
worst case with a small set of ¢’s, assume 21,29 € Z and zy + az; mod M = 0. Then the
parameter c is integer, and

c=zUj_1 +2U; — 1Mt € Z.
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(21bM 1 is a constant parallel shift not affecting the number of planes.) How many of such
c’s exist? For 0 < U < 1 obtain a range for the ¢’s by a maximal set I. C Z, such that

c€e€l., = the line touches or cuts the unit-cube .

The cardinality of the set I.. gives a clue on the distance between the parallel lines (planes).
It is unfavorable when the set consists of only a few elements.

Academic Example N; =2N,_; mod 11 (i.e. a =2, b=0, M = 11)
The pair (29, 21) = (—2,1) solves zp + az; = 0 mod M. Hence

—2U;,_1+U; =c.

0 <U <1 implies —2 < ¢ < 1. In view of ¢ € Z, the only parameters are ¢ = —1 and
¢ = 0. For this choice of (29, 21) all 10 points in [0,1)? fall on only two straight lines.
(0 does not occur for Ny # 11k, k € Z.)

1 T

08
0.6

0.4

. (Ui-1, U;)-plane.
o2f 1 10 points for Ny # 11k

Example N; = (1229N;_; + 1) mod 2048
The condition zg + az; = 0 mod M

20 + 122921

y
2048 ©

is satisfied by zop = —1, 21 = 5, because
—1+41229-5 = 6144 = 3 - 2048.

c=—-U;_1+5U; — ﬁ implies —1 — ﬁ <c<b-— Wis' This shows that there

are only six values of the ¢’s, ¢ € {—1,0,1,2,3,4}, and all points in [0, 1)? fall on six
straight lines.

The U;-distance between two neighboring lines is % = %
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1

// (Ui—lv Ui)—plane.

00 In this figure,
// the discrete points
o are not separated.
/ The sixth line

consists of one point.

0

L L L L
0 0.2 0.4 0.6 0.8 1

For the above examples, the (U;_1,U;)-points are obviously not equidistributed. The next
example is much better for m = 2. But equidistrution for m = 2 does not imply equidistri-
bution for larger m.

Example (RANDU)

N; = aN;_; mod M, with a =243, M =23

For m = 2 experiments show that the dots (U;_1, U;) are nicely equidistributed in the
square. But inspection for m = 3 reveals that the random points in the cube [0, 1)3
fall on only 15 planes.

Analysis for larger m is analogous. Illustration in Topic 14.

B. Fibonacci Generators

There are other classes of random-number generators, for example, the Fibonacci gener-
ators. A prototype of such generators is defined by

Ni—|—1 = Ni_y - Ni—u mod M

for suitable u, v (also with “+” or with more terms). Literature: [Knuth]

Example
Ui :=U;_17 — Uj_s,
incase U; <0set U; :=U; +1.0

(simple example with reasonable features, but there are correlations.)
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Algorithm (loop of a simple Fibonacci generator)

Repeat: ¢ :=U; — U,
in case ( <0, set (:=(¢+1

UZ:C
1:=1—1
ji=j—1

in case 1 =0, set ¢ := 17

in case j =0, set j := 17

Initialization: Set ¢ = 17, 7 = 5, and calculate Uy, ...,U;7 with a congruential generator
with, for example, M = 714025, a = 1366, b = 150889.

A professional generator to calculate uniform random numbers is the “Mersenne Twister”
by Matsumoto, Nishimura, in: ACM Transactions on Modelling and Computer Simulations
8 (1998), p.3-30. This generator has excellent features, with a huge period, and is equidis-
tributed also for high dimensions m.

1 T T T T

08 |- : : Lo < g

06 : D ‘ : ]

02 | i ' c ' : e i
10000 random numbers

(U;—1,U;), calculated with
a Fibonacci Generator
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2.2 Random Numbers from Other Distributions

The generation of all kind of deviates is based on uniform deviates. For the calculation of
random numbers from a given distribution we can apply several methods, namely, inversion,
transformations, and rejection methods.

A. Inversion

Let F(z) := P(X < z) be a distribution function, for a random variable X, and P is the
corresponding probability.

Theorem (inversion)

Suppose U ~ U]0, 1] and let F' be a continuous strictly increasing distribution function.
Then X := F~}(U) is a sample from F.

Proof:
U~U[0,1] means P(U <¢)=¢ for 0 < ¢ < 1. Hence

P(FY(U) <2)=P(U < F(z)) = F(x).

Application
Calculate u ~ U[0,1] and evaluate F~!(u). These numbers have the desired distri-
bution. Mostly inversion is done numerically because F~! in general is not known
analytically.

There are two variants:

(a) F(z) = wu is a nonlinear equation for x, which can be solved iteratively with
standard methods of numerical analysis (e.g. Newton method). For the normal
distribution (Figure), the iteration requires tricky termination criteria, because
for u ~ 0, u 1 small perturbations in w lead to large perturbations in x.

o

u=F(x)
1/2+

X

(b) Construct an approximating function G such that G(u) ~ F~!(u). Then only
x = G(u) needs to be evaluated. The construction of G must observe the asymp-
totic behavior, which amounts to the poles of GG. For the standard normal dis-
tribution the symmetry w.r.t. (z,u) = (0, 3) can be exploited and only the pole

for u = 1 needs to be observed. This can be done with a rational function G(u),

with a denominator having a zero at u = 1.
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B. Transformation

We begin with the scalar case: Let X be a random variable. What is the distribution of a
transformed h(X)?

Theorem (scalar transformation)
Suppose X is a random variable with density function f and distribution function F.
Further assume
h:S— B
with S, B C IR, where S is the support of f, and let h be strictly monotonic.

(a) Y := h(X) is random variable with distribution function

F(h™(y)) for increasing h
1—F(h *(y)) for decreasing h

(b) If h~! is absolutely continuous, then for almost all y the density of h(X) is

o[£ 2.

dy

Proof: (write also FX for F)
(a) F¥(y) :=P(h(X) <y) =
(in case h is increasing:)
=P(X <h7H(y)) = F*(h7'(y))
(in case h is decreasing:)
=P(X>h"H(y) =1-PX <h™'(y) =1-F*(h7'(y))
(b) For absolutely continuous A~! the density of Y = h(X) is equal to the derivative of

-1
the distribution function almost everywhere. Evaluation of %y(y)) with the chain
rule implies the assertion; distinguish between increasing and decreasing h.

Application
Start with X ~ /[0, 1] and the density of the uniform distribution,

flx) =

1 for0<2<1
0 elsewhere

ie. S = [0,1]. Random numbers Y with prescribed target density g(y) are to be

calculated. Hence we require a transformation h such that

dh~'(y)

roton |y

-2

dy

Then h(X) is distributed as intended.
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Example (exponential distribution)

The exponential distribution with parameter A > 0 has the density

e M for y >0
9(y) =

0 fory <O.

B consists of the non-negative real numbers. As transformation [0,1] — B we choose
the monotonic decreasing function

1
y=h(z) = Y log x

with inverse h=1(y) = e=*¥ for y > 0. Since

dh~'(y)

0t | P = 1 fene ] = ae =g,

h(X) is distributed exponentially for X ~ /[0, 1].
Application
Calculate Uy, U, ... ~ U[0,1]. Then

1 1
Y log(U), 3 log(Us), ... are distributed exponentially.

(Hint: The distances between jump times of Poisson processes are distributed exponentially.)

Attempt with the normal distribution: Search for A such that

2 e (2)

This is a differential equation for h~! without analytic solution. In this situation the multi-
dimensional version of the transformation helps.

Theorem (transformation in R")

Suppose X is a random variable in IR™ with density f(z) > 0 on the support S. Let
the transformation h : S — B, S, B C IR" be invertible and the inverse continuously
differentiable on B. Then Y := h(X) has the density

_ (X1, ey Ty)
fhly’—————w y € B, 2.7
O (27)
where '3((217;%)) denotes the determinant of the Jacobian matrix of h=1(y).
Proof: see Theorem 4.2 in [L.Devroye: Non-Uniform Random Variate Generation
(1986)]

In Section 2.3 the two-dimensional version will be applied to calculate normal variates.



Seydel: Course Notes on Computational Finance, Chapter 2 (Version 2015) 36

C. Acceptance-Rejection Method

This method is based on the following facts: Let f be a density function on S C IR and
Aj the area between the z-axis and the graph of f. Assume two random variables U and
X independent of each other with U ~ U[0,1] and X distributed with density f. Then the
points
(z,y) == (X, U- f(X))

are uniformly distributed on Ay (and vice versa). In the Figure this is illustrated for the
normal distribution. If one cuts off a piece of the area Ay, then the remaining points are
still distributed uniformly. This is exploited by rejection methods.

Let g be another density on S, and assume for a constant ¢ > 1
f(z) <cg(x) foralzes.

The function cg is major to f, and the set Ay is subset of the area 4., underneath the
graph of cg. A rejection algorithm assumes that g-distributed z-samples can be calculated
easily. Then the points (z, ucg(x)) are distributed uniformly on A.,. The aim is to calculate
f-distributed random numbers. Cutting off the part of A., above A; means to reject points
with ucg(xz) > f(z). The z-coordinates of the remaining points with ucg(z) < f(z) are
accepted and are distributed as desired.

04 T T T T T T T T
035 -
03t -
025 i
0.2 4
0.15 4
50000 points
01| ] (X7Uf(X))
X ~N(0,1)
0.05 - 7 U~ U[(], 1]
f density of X
0 1

2 := random number distributed according to g,
u := random number ~ U0, 1] independent of x
until  ucg(x) < f(z)

return: x
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Example (as exercise): Laplace-density g(z) := i exp(—|z|), f density of the standard
normal distribution. What is ¢7*

2.3  Normal Deviates

This section applies the transformation theorem in IR? to the calculation of normally dis-
tributed random numbers, and sketches the ziggurat algorithm. (Alternative methods are
provided by inversion methods.)

A. Method of Box and Muller

S :=10,1]2, X uniformly distributed on S, density f =1 on S. Transformation h:

yp = \/m cos 2wy =: hy(x1,x2)
Yo = \/m sin2wxy =: ha(x1, 2)

z1=exp{—3(y; +y3)}

1 Y2
r9 = — arctan —
27 n

For this transformation the determinant is

o o
o) g, (B2 82
P - Ozy  Ozy | T
(y17y2)

inverse h—1:

8:1/1 8:1/2
1 10,2 2
= —g-oxp {30+ )}

Its absolute value is the density of the two-dimensional normal distribution. Since
O, x2) { 1 1,2 } [ 1 1,2 }
| = exp (—3¥1) | - exp (—3%2) | »
‘8(3/1,3/2) v 2T ( 2 1) v 2T ( 2 2)

the two-dimensional density is the product of the one-dimensional densities of the standard

normal distribution. As a consequence, the two components yi,ys of the vector Y are
independent.

Application

When the two components x1, x5 are distributed ~ U0, 1], then the transformation
provides two independent yy,y2 ~ N (0,1).

Algorithm  (Box-Muller)

(1) generate Uy ~ U]0,1] and Us ~ U[0, 1].
(2) 0 :=27U,, p:=+/—2logl;
(3) Zy :=pcosf is ~N(0,1)

(same as Zy := psiné).

* colored in Topic 3 of the Topics for CF
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B. Variant of Marsaglia

Prepare the input x1, x5 for the Box—Muller transformation such that trigonometric functions
are avoided. From U ~ U[0,1] obtain V' := 2U — 1 ~ U[-1,1]. Two such numbers V;, V5
define a point in IR?. Define the disk

D:={(V,Va) : VE+VE<1)

Accept only those pairs (Uy, Uz) such that (Vi, V,) € D. These accepted points are uniformly
distributed on D. Transformation to (radius)? and normalized angle:

.fCl _ ‘/12 + V22

To %arg (Vh,Ve) J°
These (21, z2) are distributed uniformly in S (— exercise) and serve as input for Box&Muller.
The advantage is:

cos(2mxy) = _Nn
sin(27rxy) = Ve

Algorithm (polar method)

(1) Repeat: generate Uy, Uy ~ U0, 1];
Vi=2U0; -1, Vo:=20U; —1;
until w:=VZ+ Vi < 1.

(2) Zy := Vi/—2log(w)/w is ~ N(0,1)
(as well as Zy := Vay/—2log(w)/w ).

The probability of acceptance (w < 1) is the ratio of the areas 7 ~ 0.785.... That is,
21% of all draws (Uy,Us) are rejected. But these costs are compensated by the saving

of trigonometric functions, and Marsaglia’s polar method is more efficient than standard
Box&Muller.

C. Ziggurat Algorithm

A most efficient algorithm for the generation of normal deviates is the ziggurat algorithm,
which is a rejection method.

Essentiall, g is a step function > the Gaussian density f. Construction with N hor-
izontal layers of N — 1 rectangles with the same area, and one bottom segment with the
same area, which is no rectangle but infinite because of the tail of f. The figure illustrates
schematically a situation for x > 0, where the rectangle consists of two portions (for each 4
with 0 < i < N —1), which make an extremely efficient test for acceptance possible (random
choice of the layer i; uniformly distributed test point).



Seydel: Course Notes on Computational Finance, Chapter 2 (Version 2015) 39

y

T I X
Xi+1 X
2.4  Correlated Normal Random Variates
The aim is the generation of a normal random vector X = (Xy,...,X,) with prescribed

uw=EX = (EXy,...,EX,),
covariance matrix with elements
Bij = (CovX)ij := E((Xi — w)(Xj — p1j)); 0 =i

and correlations

X
Pij = .
0i0;

For the following assume that X is symmetric and positive definite.

Recall: The density function f(x1,...,z,) of N(u,X) is

1 1

@) = G2 (et s

e { w0}

Assume Z ~ N(0,I), where z is a realization of Z and I the unit matrix. We apply the
linear transformation z = Az, A € R™*" nonsingular. The transformation theorem yields
with X = h(Z) := AZ the density of X as

1

f(A7 ) | det(A™h)| (271':;”/2 exp {—i(A_lm)”’(A_lm)}

b
| det(A)]

1 1 1 " 1
@ry7? [der(A)] ™ {‘ix (44%) }

for arbitrary nonsingular matrices A. In case AA" is a factorization of X, ¥ = AA", and
hence |det A| = (det 32)'/2, we conclude:

AZ ~ N(0,%).
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This implies
p+ AZ ~ N(p,X).

Example: Choose the Cholesky decomposition of .
Alternative decomposition out of a principal component analysis of X.

Algorithm  (correlated normal deviates)

(1) Decompose ¥ into AA" = X%

(2) Draw Z ~ N (0,I) componentwise
with Z; ~ N(0,1) for i =1, ..., n, for example,
with Marsaglia’s polar method

(3) u+ AZ is distributed ~ N (u, )

2
Example: If ¥ = (paalg p 00120 2) is required, the solution is
102 2

0141
Oop Z1+ oo\ 1 —p2 2y ) °

2.5 Sequences of Numbers with Low Discrepancy

40

The aim is to construct points distributed similarly as random numbers, but avoid clustering
or holes. In order to characterize equidistributedness, take any box (hyperrectangle) in

[0,1]™, m > 1. Tt would be desirable if for all @

#ofthex; €Q vol(Q)
# all points in [0,1]™  vol([0, 1]™)

1 .
T
+
N +
+ +
+ +
+ +
+
+
N +
08 * ’ + K
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02 + N B
+ +
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4 +
+ +
4
+ + "
+ 4 .
+
0 1 1 S L+
0 0.2 0.4 0.6 0.8 1

For m = 2 the figure illustrates this idea in the unit square [0, 1]2.
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Definition (discrepancy)

The discrepancy of a set {x1,...,xx} of N points with x; € [0, 1]™ is

of the z; €
Dy :=sup i @_ vol(@)] .
Q N
We wish to find sequences of points, whose discrepancy Dy for N — oo tends to zero
“quickly.” To assess the decay we compare with the sequence

1

\/N Y

which characterizes the probabilistic error of Monte Carlo methods. For true random points
the discrepancy has a similar order of magnitude, namely,

loglog N
\/ — N

Definition (sequence of low discrepancy)

A sequence of points x1, ..., zy, ... € [0,1]™ is called low-discrepancy sequence if there
is a constant C,,, such that for all N

Comment

The denominator in % stands for relatively rapid decay of Dy with the number of

points IV, rapid as compared with the \/Lﬁ of Monte Carlo.

But we have to observe the numerator (log N)™. Since log N grows only modestly, for
low dimension m the decay of Dy is much faster than the decay of the probabilistic
Monte Carlo error.

Table: different convergence rates to zero

N 1 /loglog N log N (log N)? (log N)?
vN N N N N

101 31622777 .28879620 23025851 .03018981 1.22080716
102 .10000000 12357911 .04605170 21207592 97664572
103 03162278 .04396186 .00690776 04771708 32961793
104 .01000000 .01490076 .00092103 .00848304 .07813166
10° .00316228 .00494315 .00011513 .00132547 .01526009
108 .00100000 .00162043 .00001382 .00019087 .00263694
107 .00031623 .00052725 .00000161 .00002598 .00041874
108 .00010000 .00017069 .00000018 .00000339 .00006251
10° .00003162 .00005506 .00000002 .00000043 .00000890




Seydel: Course Notes on Computational Finance, Chapter 2 (Version 2015) 42

Do sequences of low discrepancy exist?
Example: (m = 1) Van der Corput sequence
1131537 1
AP T
Let us study its construction by means of the example xg = %. The binary representation
of the index 6 is 110. This is radix-inverted: .011, which gives %.

Definition (radical-inverse function)
Fori=1,2,... let

i = zj: dib”
k=0

be the expansion in base b (integer > 2), with di, € {0,1,...,b—1}. The radical-inverse
function is defined by

J
dp(i) =Y dpb™F "
k=0

A one-dimensional example is the Van der Corput sequence: x; := ¢2(1).

Definition (Halton sequence)

Let p1,...,pm be pairwise prime integers. The Halton sequence is defined as the
sequence of vectors

xi = (¢p, (1), ..o, bp,, (1), i=1,2,..

The Halton sequence is of low discrepancy with C5 = 0.2602 for m = 2 and easy to generate.

1 T T T T

0.8 =

0.6 - -

0.2 -
The figure shows the first
10000 Halton points

with m = 2 and p; = 2, po = 3.
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Other sequences of low discrepancy:
- Faure sequence
- Sobol sequence
- Niederreiter sequence

- Halton “leaped”: For large m the Halton sequence suffers from correlation. This can
be cured by taking

zi o= (pp, (1), ..., dp,, (11), i=1,2,..

for suitable prime [ different from the py, for example, [ = 409.

The deterministic sequences of low discrepancy are called quasi-random numbers.
(They are not random!)

Literature on quasi-random numbers: [H. Niederreiter: Random Number Generation and
Quasi-Monte Carlo Methods (1992)]
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3. Monte Carlo Methods

In Chapter 1 we introduced the formula of risk-neutral valuation of European options,
V(S(),O) = e_TTEQ [\I/(ST) | So] 5
where W(S7) denotes the payoff. In the Black—Scholes model, specifically, this is

V(S0,0) = e_TT/ U(St) - faem(ST, T; S0, r,0)dST. (Int)
0

(For the transition density fgpwm see Section 1.5D.) The resulting PDE of the Black—Scholes
model will be the topic of Chapter 4. For general models, such PDEs are not always known,
or not easy to solve. In such cases need Monte Carlo methods, which can be applied in
all cases.

There are two approaches to calculate the above integral:
1) The integral (Int) is approximated using numerical quadrature.

2) One applies Monte Carlo simulation. That is, one draws random numbers that match
the underlying risk-neutral probability, and calculates many paths of asset prices S;.
This is the bulk of the work. To complete, compute the mean of the payoff values, and
discount.

In this chapter we confine ourselves to the second approach.
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Notations (from Chapter 1)
A scalar SDE driven by a Wiener process is described by

dXt = Q(Xt,t> dt+ b(Xt,t> th . (SDE)

We discretize time ¢t with a grid
<t <t <tjpn <...,

with equidistant step h or At = t;,1 —t;. Let y; denote an approximation of Xy,
where yo := Xp.

Example: Euler discretization

Yi+1 =Y + a(y;, t;) At + b(y;, t;) AW
t; = jAL,
AWJ - Wtj+1 _Wtj :Z\/At

with Z ~ N(0,1).

(Euler)

3.1 Approximation Error

Definition

For a given path of the Wiener processes W; we call a solution X; of (SDE) a strong
solution. In case the Wiener process is free, X; or (X, W;) is called weak solution.

For strong solutions the numerical discretization is based on the same W; as the SDE. This
enables to investigate the pathwise difference X; — y; for convergence behavior for h — 0.

Notation: We write y/ for a numerically (with step length h) calculated approximation y
at t, in particular, for t =T

Definition (absolute error)

For a strong solution X; of (SDE) and an approximation y” the absolute error at ¢t = T
is defined as

e(h) = E[ |Xr — v ] -

For a GBM, where the analytic solution X; is known, €(h) can be obtained easily:

Set in (SDE) a(X¢,t) = aX and b(Xy,t) = fX;. Then the solution (see Section 1.5D) for
given Wr is
62
X7 = Xpexp [(a — 7) T+ ﬁWT} )
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The expectation e(h) can be estimated as mean of a large number of evaluations of | X7 —y&|.
For Euler’s method this empirical investigation reveals the error behavior

which is a low accuracy compared to the deterministic case O(h). The result is plausible
because AW is of the order O(v/h) (in probability), compare Section 1.4.

Definition (strong convergence)

yh converges strongly to X7 with order v > 0, if
e(h) =E[ |Xr —yt| | = O(h").

yh converges strongly if
lim E[ [ X7 —y}| ] =0.
h—0

Example

When a and b satisfy global Lipschitz conditions and bounded growth conditions, then

the Euler discretization converges strongly with order v = %

Note that for several important SDE models (such as CIR, Heston) the global Lipschitz
conditions do not hold. Then modifications of the standard Euler may be necessary, also to
guarantee S; > 0.

How about weak solutions?

In many practical situations the individual paths of X; are not of interest. Instead, the
focus may be on moments of Xp. In particular, we would like to know E[X7| or Var[X],
rather than samples of Xr. For options, the interest is on E[¥(X7)].

Definition = (weak convergence)

yh converges weakly to Xr with respect to a function g with order 8 > 0, if

Elg(X7)] — E[g(yp)] = O(h”),
and converges weakly with order §3, if this holds for all polynomials g.

Example
When a and b are four times continuously differentiable, the Euler method is weakly
convergent with order f = 1.

Importance of g

In case the convergence order 8 holds for all polynomials, the convergence of all mo-
ments follows.

Proof (for the first two moments):
(a) For g(z) ==z
E[X7] — E[y7] = O(h”)

holds, viz, convergence of the mean.
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(b) If in addition the convergence order holds for g(x) := 22, then (writing y := y/
and X := Xr)

|Var[X7] — Varlyy]| = [E[X?] — E[y*] — (E[X])* + (E[y])?|
< [E[X?] - [2]|+|E[X]+E[ I| [ELX] — Ell],

—O(hﬁ) <const :O(hﬁ)

i.e. convergence of the variance.

Remark
Strong convergence implies weak convergence with respect to g(z) = x.

Because the properties of integration
| E[X]—E[Y] [ = [EX - Y]| <E[|X - Y]]

lead to
E[IX-Y|]=0(k") = E[X]|-EY]=0(R").

Practical advantage of weak convergence:

The increments AW needed to calculate 4" can be replaced by other random variables AW
with matching first moments. The weak-convergence order survives.

Example

AW = +V/At, where both signs occur with probability 1/2. (cheaper to approximate than
Z ~N(0,1))

This implies E(AW) = 0 and E((AW)?) = At (= Var(AW) = At).

When AW replaces AW one obtains the “simplified Euler method,” which is weakly con-
vergent with order 1.

3.2 Constructing Integrators for SDEs
The derivation of integrators for SDEs can be based on the stochastic Taylor expansion.

A. Stochastic Taylor expansion

(follows [P. Kloeden & E. Platen: Numerical Solution of SDEs])
For motivation we first consider the deterministic autonomous case

d
&Xt = Q(Xt) .

The chain rule for f € C*(IR) tells
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_df(X) dX  df(X)
EﬂXt)_ dX At  dX

= (XS f(X0) = LX),

a(Xt)

— F(X0) = F(Xe) + / LF(X,) ds

to S=——~—

::f

Substitute this formula for

f(Xs) = Lf(X,)

into itself gives

FX0) =F(Xi) + /t{ﬂxtO) v [z }as
(X)) + F(Xy,) / ds+/ / LF(X.)dzds
—F(X1y) + LF(X,)(t — to) / / L2F(X.)dzds.

This is the Taylor expansion with remainder term in integral form, here expanded until
the linear term; the remainder is a double integral. This process can be continued, and
the deterministic Taylor expansion with remainder in integral form results. (All needed
derivatives may exist.)

Now we turn to the stochastic case, to the It6—Taylor expansion:

Applying the It6 lemma on f(X) and the autonomous SDE

dXt = CL(Xt) dt + b(Xt) th

leads to
AF0X0) = (X0 g F (X0 + 3 (B00)® 0z (X))t + (X (.f ) AV,
::L(?;(Xt) :.Llf(Xt)
or
F(X0) = F(Xig) + fiy LOF(X) ds + [ L' F(Xo) AW (+)

Specifically for f(z) = x, the equation (x) includes the starting SDE

t t
thxto+/ a(Xs)ds—i—/ b(X,) AW, |

to to
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Now apply (x) for suitable f, begin with f :=a and f := b, and obtain

X, =X, +/t {a(XtO) +/S Loa(XZ)dz+/S Lla(XZ)dWZ} ds

t() tO tO

+/tt {b(XtO)-i—/s LOb(XZ)dz—i—/s le(Xz)sz} dw .

to to

This can be written

t t
Xt = Xto + G(Xto)/ ds + b(XtO) / dWS + R,

to to

with remainder

t s
://Loa( dzds+//L1 »)dW, ds
//LO dde—l—//Lb ) dW, dWs .

The integrands are
0 / 1 2 I 0 / 1 2111
La:aa+§ba Lb:ab+§bb

L'a = bad L'b = b .

Analogously the integrands in the double integrals in R can be replaced, by applying (x)
with proper f. Thereby, the double integrals

//todzds, //des //ddes, //deW

=:7(0, 0)— (At)2 1(1 0) = I(O 1) = 1(1 1)

occur as factors. Z(1,0),Z(0,1),Z(1,1) are stochastic variables. By a plausibility argument
(replace AW := W, — Wy, by its expectation /s — to ) expect that I(1, 1) is the integral of
lowest order: O(At). We begin with this integral, for f := L'b(X). From (%) conclude

/ / L'(X.)dW, dW, = L'b(Xy,) / / dW, dW, + two triple integrals

Then R consists of

R = three double integrals + b(Xy, )b’ (Xs,) Z(1,1) + two triple integrals
— —

=L1b(Xy,)

The next issue is to calculate the double integral Z(1,1):
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Let g(z) := 2% and X; = W;, which solves an SDE with @ = 0 and b = 1. The It
lemma implies

1
d(W?) = 52 dt +2W; AW, = di + 2W; W,

which in turn yields

t s t t t
/ / AW, dWw, :/ (W, — Wi, ) dW, :/ W, dW, —WtO/ dw, =
to Jto to to to

Lt% [d(WSQ) —dS} — WtO(Wt — Wto) ==

TWE=WZ) =2t —to) — 3Wie (W = Wy,) = 2(AW,)? — SAL.
This confirms the anticipated order O(At) of Z(1,1).

The above derivation of the stochastic Taylor expansion can be continued. This calls for a
systematic definition and notation of the multi-integrals, for example, Z(0,0,0),.... In this
notation, a “0” stands for a deterministic integration, and a “1” for a stochastic integration.

Application

Attach further leading terms of the stochastic Taylor expansion to obtain integrators
of higher order.

Example (Milstein method)

Vi1 =Yj +a At + 0 AW, + 500" {(AW;)? — At}
The first terms represent the Euler method, and the last term completes the list of O(At)-
terms, and improves the low order of strong convergence to 1. The weak order is also 1.

(This may be checked empirically.) Question: What does this result mean in view of SDEs
with & =07

B. Positivity

As mentioned before, positive solutions are characteristic for many SDEs in finance. This
should be preserved by numerical approximations. We discuss this topic for the CIR process,
which is part of the Heston model.

Example CIR
dXt = H(e — Xt) dt + g/ Xt th
with k,0,0 > 0, Xg = zg > 0. Positivity of X; for all ¢ is established by the “Feller

condition” .
K0 Z 50'2 5

which guarantees a strong enough growth rate. We remark in passing that b(X) = oV X
does not satisfy a global Lipschitz condition.

Euler scheme:

Yi+1 =Y; + K0 —y;) At + o /y; AW;
with yo := 2o, works as long as y; > 0. There is a positive probability that y; 41 is negative.
When X represents an asset price, an interest rate, or a variance (Heston model), then y < 0
must be avoided.
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Variants
For example, replace \/y by \/|y| or by \/y™. Then the scheme is defined for all y € RR.

Another variant calculates
yi+1 = |y; + k(0 — y;) At + o\ /y; AW; | .
Implicit Euler methods can be applied as well, for example, the drift-implicit scheme
Yj+1 = y; T a(yjr1) At + b(y;) AW; .

If this scheme is applied to the SDE of the square root process \/X;, then a quadratic
equation for y; 1 results with a unique positive solution (Exercise !). [A. Alfonsi (2005)]

3.3 Monte Carlo Methods for European Options

The aim is to calculate the value
V(S0,0) = e " EqQ [¥(Sr) | S(0) = So]
of a European option, where ¥ denotes the payoff and Q a risk-free probability measure.

A. Basic Principle
The integral of this expectation can be approximated by Monte Carlo methods. The first

decision is the choice of the market model (as Heston- or Black—Scholes model). Here we
focus on the classic Black-Scholes model with GBM,
dSt = St (T dt + O'th) .

The procedure is analogous to

Monte Carlo quadrature:
With respect to U0, 1],

1 (o)
| t@de= [ s 1o =€),
0 — 00
Applying the law of large numbers,
| N
ﬁZf(xk) — E(f) for N — oo,
k=1

where zj, are independent random uniformly distributed numbers in the domain D :=
[0, 1], because 1 q) is the corresponding density. Hence the sum

%Zf(fﬂk)

k=1
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approximates the integral fol f(z)dx.

For general domains D the approximation is

[ s~ Y2 S sa.

k=1

The error is probabilistic. The central limit theorem provides related assertions, for exam-
ple:

With 95% probabilty the true value of the integral lies in the confidence interval around
the approximate value, which is given by the half width ac/v/N. For 95% probability
the parameter a is a = 1.96, and o is the standard deviation.

So much on MC applied to quadrature. Now the question is, what is the structure of f when
options are to be priced under GBM?

In that case, the density is fopm, and accordingly the x; must be distributed lognormally.

Algorithm: Monte Carlo Method for European Options

Simulate N paths of the asset price under the risk-neutral measure Q. Each path starts
at Sp, and terminates in xj := (St), for k =1,..., N. Evaluate the payoff ¥(Sr)

f(zr) == ¥((S7)k)

—rT

calculate the mean, and discount with factor e Its expectation yields the true

value V' as long as f (S and ¥) is unbiased.

(Illustration in the beginning of the chapter)

Examples of a payoff ¥
1.) Binary or digital option, e.g., binary call:

1 in case S > K
U(S+)=1 = { T
(S7) Sr>K 0 elsewhere

2.) Barrier option with barrier B, e.g. a down-and-out call option with

() — 0 incase Sy < Bforatin0<t<T
(8) = (St — K)* elsewhere

For this path-dependent exotic option the entire path S; on 0 < ¢ < T is of interest.
(meaningful for Sy > B > K; illustration in (S,t, V)-space under consideration of
boundary conditions along S = B)

3.) two-asset cash-or-nothing put: The payoff is 1 in case the inequalities S7(7T) < K7 and
S3(T') < K hold, where S1(t), S2(t) denote the prices of the two assets. (See the figure
below; more figures in www.compfin.de.)

Hint: Many analytic solution formulas can be found in [E.G. Haug: Option Pricing Formu-
las].
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Implementation of the Monte Carlo Method
For the GBM model the true solution

S; = Sp exp {(r — %02)75 + O'Wt}

can be applied. For options that are not path-dependent this requires only one random
number for each path, for generating W and Sp. For more general models without analytic
solution formula, one must resort to numerical integration (say, with Euler’s method). Then
Monte Carlo consists of two loops: the outer loop of sampling (k = 1,...,N), and the
inner loop of the integration (j = 1,..., M; At = %; t; = jAt). For path-dependent GBM
models, the analytic formula can be applied in a piecewise fashion,

Sty = Sy, exp {(r — 30%) At + 0 AW}

for all j, with AW =vVAtZ , Z ~ N(0,1).

Dimension. Monte Carlo works in the same way for high-dimensional problems. The
costs are essentially independent on the dimension. This is an important advantage of
Monte Carlo methods.

B. Accuracy

a) Denote
~ 1 al A2 1 al A2
frim o > flan), 8= e S (Flaw) — )
k=1 k=1

and p = E(f1). According to the central limit theorem, the approximation i obeys

N(u,0?),

P(ﬂ—MSaé%)zfmm

with distribution function F. In practice o2 is replaced by its approximation §2. The error
behaves as . To reduce this statistical error, either reduce the numerator (variance reduc-

2

S
VN
tion), or enlarge the denominator. The latter means to increase the number of simulations,
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and is very costly. For example, to gain one additional correct decimal, the error must be

reduced by a factor %, which amounts to raise the costs by a factor of 100 = (%O)_Q.

b) In several cases, the computation of f(x;) gives rise to another error, namely, the bias.

Let Z be an estimator of the true value x to be estimated, then the bias is defined as

bias(z) := E[z] — .

Examples

1.) For a lookback option the payoff involves the variable

x::E[maX St}.

0<t<T

An approximation is

Z:= max S;. .
0<j<m 7

Clearly & < x. Almost surely & underestimates xz, i.e. E[Z] < z. Hence bias(z) # 0.
2.) Compared to the analytic solution of GBM, the Euler method provides biased results.

For GBM,

St =St exp {(r — 502) At + 0 AW}

J+1

is unbiased, whereas the Euler step

St =S, (1471 At +0 AW)

J+1
is biased.

These two examples are asymptotically unbiased since the bias vanishes for M — oo. To
reduce the errors, there are several possibilities, which must be compared for costs and
tradeoffs. Either

e apply variance reduction,
e increase N, or

e reduce the bias (M larger, At smaller),

or apply all these measures. Increasing N and M should be balanced. The overall error is
measured by the mean square error:

Definition (mean square error)
MSE(Z) := E [(z — 2)?] .

As is easily verified,
MSE(#) = (E[#] — 2)* + E [(# — E(2))?]

— (bias(2))® + Var(2) .
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C. Variance Reduction

There are several methods of variance reduction. The simplest (and maybe the least pow-
erful) is the method of antithetic variates. As for the crude MC, paths are simulated with
random numbers Z;, Zo, ... Let us denote the MC approximation V. The idea of antithetic
variates is to use in parallel the numbers —Z;, —Zs, ..., which are also ~ N(0,1), to calcu-
late “mirror paths” S; from which the payoff values ¥(S; ) are calculated. This leads to a

~

second Monte Carlo value V~. By construction, Var(V') = Var(V ™). The effort to calculate

A

V'~ is slightly lower than that for Var(V') because the Z’s are recycled. The mean

A

Vav = (V+V7)

N =

satisfies .
Var(Vay) = ZVar(V +V7)

1 ~ -
= Z(VarV + VarV ™ +2Cov(V, V7))

1 ~ 1 ~
= §VarV + ECOV(V, V)

The anti-symmetric construction of the mirror paths inspires some confidence that the results
are negatively correlated, Cov(V, V™) < 0. This holds in case the dependence of the output
V on the input Z is monotonic. For Cov(V,V ™) < 0 the effect is

1 ~
Var(Vay) < §Var(V).
This approach at most doubles the costs. In comparison, an error reduction of this size

(factor < %) by merely increasing IV requires at least fourfold costs.

Example GBM: Let the index k in Vj label the MC simulation, k¥ =1,..., N, for GBM.
For a payoff ¥ draw Z, ~ N(0,1) and calulate the pairs V4, V,  and the antithetic variate
Vav i as follows (for ty = 0):

2
Vie=W (Soexp{(r — %)T+JﬁZk})
o2
Vk_ = \If (Soexp{(r— 7)T—0’\/TZ]C})
1 -
Vav,i = §(Vk +V.)

For each k, Vi and V,~ are dependent, but the independence of Z; ~ N(0,1) makes the
Vav, for k=1,..., N independent, and MC is applied: The mean, discountend with factor
e T, approximates V.

(For the more complex method of control variates, see the literature.)

Notice that MC has not been developed for the simple vanilla options. The potential of MC
is needed for exotic options, in particular, in high-dimensional situations.
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3.4 Monte Carlo Methods for American Options

A. Stopping Time

Examples of decisions in the financial market include selling an asset, or exercising an
American option. Let us call the decision “stopping,” and the time instant of the decision
“stopping time” 7. Such decisions can only be based on the information available so far.
Accordingly, a stopping time must be non-anticipating: That is, for any time ¢ one must
know whether the decision is made, i.e. whether 7 <t or 7 > t.

This characterization of a stopping time can be defined formally with the means of
stochastics, building on the underlying process S;:

Recall the filtration F;: A stochastic process S; is called F;-adapted, if S; is Fy-
measurable for all ¢. The natural filtration F;° is the smallest sigma-algebra over
{S; | 0 < s < t}, augmented by the P-null sets. S; is F-adapted. Filtrations
represent the amount of information available at time . Hence we require for the set
{T <t} of all decisions until ¢

{7’ S t} - ft ;
which is the F;-measurability of 7.

Definition (stopping time)

A stopping time 7 with respect to a filtration F; is a random variable with values in
[0, T) U {oc}, which is Fy-measurable for all ¢.

The importance of stopping times for American-style options is highlighted by the following
result of Bensoussan (1984):

Let ¥(S;) be a payoff, e.g. ¥(S;) = (K —S;)*.

The value of an American option is

V(S, O) - SupOSTST EQ [e_rT \I/(ST) ‘ SO == S]
T stopping time

The stopping time 7 is with respect to a natural filtration F; of S;.
Examples of stopping times

1) Define the hitting time
T:=inf{t>0]S >3}

for given B8 > Sy. If no such t exists, set 7 := oo.
Clearly, a hitting time is non-anticipating: Setting 7 amounts to setting a flag in case
of hitting, and for any time ¢ check whether the flag is set.*

* See [Hunt & Kennedy (2000)] for a formal proof that this 7 is stopping time.
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0 T S

S B

2) Define t* as the time instant at which maxg<¢<7 S; is reached. This is no stopping
time! Because for arbitrary ¢ one can not decide whether t* <t or t* > t.

3) A stopping time is given by
T:=min{t <T| (¢, S:) € stopping region }

(This is a hitting time for S; hitting the early-exercise curve; cf. Section 4.5.)

B. Parametric Methods

In (*) the supremum over all stopping times is taken. Now we construct a special stopping
time. Similar as in Example 1 or 3 we define a curve in the (.S, ¢)-half strip, which is supposed
to approximate the early-exercise curve. This defines a special stopping strategy 7 by the
event of hitting the curve. Assume that g is a vector of parameters defining the curve. Then
the stopping rule and 7 depend on . This special S-depending stopping strategy 7 leads
to a lower bound

VI8 (5,0) ;= Eq [eT"TW(S:) | So = 5] < V(S,0).

Application:  Obviously, V(5,0) can be approximated via suitable -defined stopping
curves as
supg ylow(®),

This idea of an optimal stopping strategy leads to the procedure:

Construct a curve depending on a parameter vector 3 such that the curve approximates
the early-exercise curve. The stopping strategy is to stop when the path S; crosses the
curve defined by 8. For N such paths evaluate the payoff, and evaluate (approximate)
the value V() as crude MC does. Next attempt to maximize the lower bound
V1ow(8) by repeating the procedure for “better” parameters f3.

Example with § € R':
Consider a parabola with peak in (S,¢) = (K,T'), which is defined by one parameter
B only. As illustrated in the figure, this parabola can be seen as an approximation
of the early-exercise curve of a put. Calculate N paths (e.g. N = 10000) until the
left branch of the parabola (yields 7) or t = T is reached. Similar as in Example 1
this hitting time gives rise to an approximation V'°¥(#)  Each evaluation of V'ow(#)
costs as much as MC for a European option. Then repeat the procedure with a better
B. — This V10 will not converge to V(S,0). A systematic error will remain be-
cause the eary-exercise curve can not be approximated so well with a simple parabola.



Seydel: Course Notes on Computational Finance, Chapter 3 (Version 2015) 59

O 1 % S
s, K
To complete the procedure, one should also construct an upper bound V"P. Literature:

[P. Glasserman: Monte Carlo Methods in Financial Engineering (2004)]

C. Regression Methods

Definition (Bermudan option)

A Bermudan option is an option that can be exercised only at a finite number M of
discrete time instances t;.

Specifically for

T
t: i =j7At, At:=— =0,..., M
J j ) M (] I ) )

we denote the value of a Bermudan option VBe(M) = Because of the additional exercise
possibilities,
holds. One can show

lim VBeM) — yam

M — o0

For suitable M the value VB*M) is used as approximation of VA™. The linear convergence
suggests working with a few moderate values of M and apply Richardson extrapolation. In
this way, the high costs of Monte Carlo for American options can be kept at a tolerable
level.

Recall from the binomial method (Section 1.3): The value of an American option is
calculated recursively in a backward fashion, where the continuation values V°* are defined
as European options on a strip, and for each ¢;

VA — max {\II(S), Vcont} )

Because at each t; the holder of the option decides which of the two possibilities {exercise,
hold} is optimal.*

For a Bermudan option we define the continuation value at t; analogously:
—rA
Cj (x) =€ ¢ EQ [V(Stj+1,tj+1) ‘ Stj = x} .

These functions C;(z) must be approximated.

* principle of dynamic programming
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General Recursion

Set Vy(x) = ¥(z).
Forj=M-1,...,1

construct C;(z) for x > 0;
Vi(z) :=V(x,t;) = max{¥(z), Cj(z)} for grid points z .
Vb = V(Sto, to) = maX{ \II(S()), C()(So) .

Below we define special x by a stochastic grid.

To calculate the functions Cj(x) with Monte Carlo, one draws information out of paths
established by simulation, and approximates C;(x) by a regression curve C(x).

Regression (basic version)
(a) Simulate N paths Si(t), ..., Sn(t): Calculate and store the values

Sj’k = Sk(tj), jZl,...,M, kIl,...,N.

0.8

0.6

five trajectories and
points (Sj’k, tj)

0.4

0.2

0

35 65 70

Mapping C, illustration for N =6
v The N pairs (k=1,...,N)
\/j+1l' t (Sj7k ) e_TAt‘/]Jl_l:k)
/ constitute theA data needed to calculate
‘ the function Cj(z).
The mapping
Sik — Vigik
is illustrated by circular dots.

i1
j

squares procedure to generate C'J(x)

(S s e_’"AthH’k), which enter a leas
S

forj=1,....5,k=1,...
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Regression (continue)
(b) For j = M set Vi = ¥(Sp k) for all k.

(c) Forj=M—-1,..., 1
Approximate C;(x) with suitable base functions ¢y, ..., ¢1, (e.g. monomials)

Ci(z) =Y agi(z) = Cj(x)
=0

To this end, apply least-squares minimization on the N points
(Sjk,e ™ Vig), k=1,.,N

to get the coefficients aq, ..., ar and thus C'j.

Evaluation: X
‘/j,k = maX{\I/(Sch), Cj(SjJC)} .

(d) Set
1

Vo := max { ¥(5)), e_’"AtN

Via+..+Vin)}.

Costs

The expensive steps are (a) and (c). Step (d) is needed because the algorithm of (c) can
not be applied for j = 0, since Sp = Sp for all k. Instead, the mean in (d) is taken.
Convergence of the algorithm was proved.

Based on this regression framework, the algorithm of Longstaff & Schwartz (2001) is
built, as well as the even more efficient algorithm by C. Jonen (2009). In particular, step (c)
offers potential for improvements.

The costs of step (c¢) of the above algorithm for American options do depend on the
dimension. (Why?) When the entire computing time for pricing an option is limited, then
the dependence on the dimension restricts the achievable accuracy. In this sense, the error
of MC depends on the dimension.

[lustration: Topic 6
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Supplement to Section 3.4
Longstaff & Schwartz modify the algorithm as follows:

A dynamical-programming principle is incorporated for the optimal stopping times.
Each path has its own stopping time 7 for &k = 1,..., N. (It suffices to store the index
k since 1, = kAt.) This algorithm takes advantage of the possibility to work across
several time levels. Due to a modification of C. Jonen [Intern. J. Computer Math. 86
(2009); PhD 2011] this is an efficient method.

Algorithm
Initialization: 7 := M for all k.
Foreach j =M —1,...,1:
loop over all paths £ =1,...,N:
In case W(S; ;) > C;(S;x) set 75 := j.

Otherwise leave 15, unchanged.

For further hints on regression, and on the computation of sensitivities (Greeks), consult
[R.U. Seydel: Tools for Computational Finance, Springer, London (2017)]. See also Topic 6
in the Topics for CF.
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4. Finite Difference Methods
for American Vanilla Options

This chapter considers options with vanilla payoff ¥(S5), where S is the price of an underlying
asset. The assumed model for S; is GBM. A continuous flow of dividend payments is
admitted, with constant dividend rate 6 > 0. Hence the GBM is
ds
?t = (u—0)dt + o dW,.
t

4.1 Preparations

The Black—Scholes equation for the value V (S, t) of a standard option is

v 1, 0% v B
E"’ﬁO’S @—F(T—d)S% TV—O,

defined on the domain S > 0, 0 <t < T. Terminal condition: V(S,T) = ¥(S5).

This partial differential equation (PDE) can be solved directly with numerical methods.
But then tricky stability issues must be tackled. Here we prefer applying transformations as
much as possible in order to obtain simpler equations, e.g. with the transformation S = e”.

Assumption: o, r and  are constant.

Then the Black—Scholes equation can be transformed to a strikingly simple type of PDE
(exercises). With t =T — 23 § = Ke®, q:= 2% ¢5:= @ and y(z, 7) defined by

o2 o2

2
V(S,t) =V (Ke", T — —;) = v(z,T)
o

ola.r) = Kewp {3 (as - o = (Jas — 02 +) 7 pola.

one obtains

oy _ 9y
or  0x2

This is a parabolic equation which has an analytic solution. A back transformation estab-
lishes the well-known Black—Scholes formula. So, for a standard option of European style
no specific numerical method is needed.



Seydel: Course Notes on Computational Finance, Chapter 4 (Version 2015) 64

The aim of the chapter is to price American options.

Generic applications of the simple PDE y, = y,, are heat conduction and diffusion in a one-
dimensional medium. The problem is well-posed as initial-value problem with increasing
7. The time transformation ¢ — 7 converts the terminal condition for V' (S,T) = ¥(S5) to
an initial condition for 7 = 0:

call :  y(z,0) = max {e%(qﬁ—l) _ e%(qé—n7 0}

put : y(x,0) = max {e%(%_l) — e%(%-kl),o}
A solution y of the initial-value problem is defined on the domain
L o
—00 < T < +00, O§T§§UT:37m3X7

which is a strip in the (z, 7)-plane. “Boundary” here means x — —oo, £ — +00.

Boundary-Value Problem

For numerical purposes the infinite strip is truncated to a rectangle, with
Lmin <z < Tmax -

This “localization” cuts down the influence of the initial conditions, and additional condi-
tions must be formulated to make the problem well-posed. These are boundary conditions
for the sides &y and xyax. For the solution w(z, 7) of the boundary-value problem on
the rectangle we aim at w =~ y, which requires the rectangle to be “large.” The sides Ty
and xp.x must be chosen accordingly. In addition, the interval must include the range of
financial interest, namely, the x-values of Sy and K. This requires

S S
Tmin < min{O, log}O} , maX{O, log}O} < Tmax -

For simplicity, just think of z,;;, = —3 and x,.x = 3. — Later we shall see that for American
options the partial differential equation mutates to an inequality.

4.2 Basics of Finite-Difference Methods (FDM)

A. Difference Approximations

Recall
fl(z) = f(x+h})b— f@) gf”(f) fora £ € (z,z+h) and f € C?

We introduce an equidistant grid with grid points x;

e < L1 < T < Tig1 <l
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and h := x;11 — x;. [In the non-equidistant case one often prefers finite-element methods
(FEM)]. This chapter is confined to equidistant grids.

Analogously, with notation f; = f(z;), the following holds true:

_ fiv1— ficr

f(x;) = ey t O(h?) for f € C3
() = Jit1 — QhJ;z + fi1 +OoM?) for f € O
f(z) = “fizt ;l}?ﬂ =34 +O(h?) for feC?

B. The Grid
For an m € IN and a vy« € IN define

Lmax — LTmin
Ar = ————
m

, T; = Tmin + 1 Az, 1=0,1,...,m;

Tmax
AT = , T, :=v- AT, v=20,..., Vmax -
Vmax

Vi = y(zi, 7,) is the value of y at the node (z;,7,). Approximations of y; , are denoted
w;,,. The values

w; 0 = y(x;,0)

are known from the initial conditions.

C. Explicit Method

In the PDE, replace

6yi,u o 8y($¢,7u) _ Yiv+1 — Yiv 4 O(AT)

1= d
or or AT an
Yy Yirlw — 2Yin + Vi1 9
) — ) 3 9 O A
0x? Ax2 +0(Ar%),

drop the O-error terms, replace y — w, and obtain the difference equation

Wiyl — Wiy  Witly — 2Wi + Wim1p

AT Azx?

In case all values w are calculated for the time level v, then the values of the time level v+ 1
are given by

AT
Wi pt1 = Wiy + m(wm-l,y - 2wi,y + wi—l,v) .
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With the notation
AT

= A2

this is rewritten as

Wi pt1 = AWi—1, + (1 = 2N w; » + AMwigq,, - (%)

Start with v = 0, since there the w; o are known. That is, for » = 1 all w; ; can be calculated
with the explicit formula (x), and similarly the w; ,-values of the following time levels.

v is the outer loop index and ¢ the inner index. This suggests to describe the procedure by
vectors and matrices: Use
w(y) = (wl,l/7 SR wm—l,u)#

(so far, reasonable boundary components wy, and w,, , are lacking) for the values of the
v-th time level, and the (m — 1) x (m — 1)-matrix

1—2\ A o - 0
A 12 :
A= Aexpl i = 0 0
: . ) ) A
0 0 A 1—=2)\

Now the explicit method can be written

wt) = Aw™  for v =10,1,2, ..., Vmax — 1

up to a modification taking care of boundary conditions for wg, and wy, ,. Preliminarily,
for ease of presentation, we have set the boundary conditions to zero.

Example of Instability

Yr = Yuo With y(z,0) = sinwz, 9 = 0, x,, = 1 and boundary conditions = 0.
Let us approximate y(z = 0.2, 7 = 0.5) using a grid with Az = 0.1, i.e. m = 10 and
0.2 = xo, and two different values of A7:

a) A7 =0.0006 = AX=0.05 and 0.5= 7000
yields ws 1000 = 0.00435  (exact is 0.004227)

b) AT=001 = A=1 and 0.5=r7s
yields wq 50 = —1.5-10%  (an instability)

D. Stability
Error analysis of w1 = Aw®) +d™)  (above d*) = 0)
Notation

w® exact vectors of w1 = Aw®) + d¥),

w") versions calculated in the computer, subjected to rounding errors,
e =) — ),
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In exact computation, w1 — Aw™) — d) is nonzero; we call this vector r*+1)
@(V‘H) — A@(V) + d(V) + r(V‘H) )

The vector 7(*+1) represents the rounding errors in the v-th step.

It suffices to study the propagation of one error. So we set r*) = 0 for v > 1, i.e., study
propagation of the error e(?) in the course of the iterations.

= W) = AT™) + 4 (v > 1)
S Ae®) — AT®) — Aw®) = D _ D) — (D)
= e = A7)

For stable behavior, we require Ae(®) — 0 for v — .
Notation:

p(A) = max |pit| where p? is eigenvalue of A

Lemma 1
p(A) <1 <= A"z — 0 forall zand v — o0

Proof: Textbooks on Numerical Analysis.

A has the structure

2 -1 0
-1
A=T1T-)\
1
0 -1 2
—G
=t =1- .
Lemma 2
a B 0
o
For G = e RV the eigenvalues are
g
0 v o«
G km
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Proof:
With the eigenvectors

t
(k) _ Y gin km Y 2 o 2km Y N i NEkrm
v\ = 58 No1 3 S 3 sin 7

check Guv®) = ;Gok),

(For v = 3 the eigenvectors do not depend on «, 3, 7.)
Applying Lemma 2 either directly to A, or to G with N =m —1, a =2 and =y = —1,

yields
k k
s — 2 2cos " = 4sin? (—W)
m 2m
A — 1 — 4)sin? L
e = 2m
By Lemma 1:
- . o kT
stability <= |1 —4Asin® —| <1, k=1,...m—1
2m
k 1 k
<:>/\>Oand—1<1—4/\sin2—7r, 01"—>/\Sin2—7r
2m 2 2m

For the second inequality A < 1/2 is sufficient. In summary,

For 0 <A< % the explicit method wt) = Aw®) with A = Aexpl is stable.

Because of A = AAJQ, or 0 < At < %AwQ, the step sizes A7 and Az can not be chosen

independent of each other.

Conclusion: This explicit method is not satisfying.

E. An Implicit Method

The backward difference quotient

3yi,u Yy —Yiv-1
9 A + O(AT).

leads to

—AWit1,p + (L +2N)w; p — Awi—1,, = W 1 .

This is a system of coupled linear equations for the w; , . With
1+2\ =\ 0

A = Aimpl = _>\
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the vector w®) is defined implicitly as solution of Aw®) = w1 or
Aw ™ =™ L =0,. .. Umax — 1.

(We still use the preliminary boundary conditions wg , = wy,,, = 0.) This method is called
backward difference method or backward time centered space (BTCS) or fully implicit.

Stability

The above Lemmas imply that the method is unconditionally stable, and At and Ax
can be chosen independent of each other.

Costs

VmaxO(m), since only one LR-decomposition of A for v = 0 is necessary (cheap for a
tridiagonal matrix). For each v, only one backward loop is required, which costs O(m)
operations.

A weakness of this method (and of the explicit method) is the accuracy of the first order in

AT, the error is of the order
O(Az?) + O(AT).

4.3 Crank—Nicolson Method

It would be desirable to have a stable method with error O(A7?) for
oy 0%y
or  0x%’

From the previous section, we assemble the forward quotient for v

Wipt1 — Wiy  Wigly — 2W5 0 +Wi—1

AT Azx?

and the backward quotient for v + 1

Wiyl — Wiy Wil w41 — 2Wip41 + Wi—1 p41
AT Ax? ’
Adding both equations yields the scheme

Wipp1 — Wiy 1
AT 2Az?

(Wit1,0 — 2Wi0 + Wim1 0 + Wig1,p41 — 2Wi 1 + Wie1,041) -

Theorem (Crank—Nicolson)
For this scheme the following assertions hold:
1.) For y € C* the method is of the order O(Ax?) + O(AT?).
2.) For each v a system of linear equations in tridiagonal form must be solved.
3.) The method is stable for all A7 > 0.
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Proof:

1.) With the notation
Wig1,y — 2W;p + Wi—1,
Ax?

6mwwi,u =

the Taylor expansion for y € C* yields

0? Ax? 04
zxYi,v — 5 o Yi,v —a a aYi,v A 4 .
Ozl 927" + 12 947" +0(Az7)

Then the local discretization error

y',y 1 — y‘,u 1
- AL T UL (5xa:yi,u + 5mxyi,u—|—1>

e AT 2

satisfies
€= O(AxQ) + O(ATQ) .

2.) With A := 27 the scheme is rewritten

Ax?
A
T Wislpl + (1 +Nwi 41 — 5 Witlr+1
A A
= Ewi—l,y + (1= MNw;, + Ewi—l—l,u .
With the preliminary boundary conditions wg , = w,,,, = 0 this is the matrix-vector
system
Aw ) = By®)
where
A A
I+X —35 0 I-X 3 0
_A A
A= 2 , B:= 2
. .= A
A g A g
0 -5 1+A 0 5 1-=2A

By the theorem of Gerschgorin the eigenvalues of A lie between 1 and 1+ 2\. So, zero
is no eigenvalue, A is non-singular, and the system of equations has a unique solution.

3.) Set
2 -1 0

A=T+3G with G.=| 1 and B=1-3G.

Then
(2I + AG)w Y = (2I — A\G)w™)

=:C
= (41 — 21 = \G)w™)
= (41 — C)w™),
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which leads to the explicit form
w ) = (4Cc~t — Nw™).

By Lemma 1 the stability requirement is

4
—C—l‘<1 for all k.
oy

By Section 4.2D, the eigenvalues ch of C are
k
ns =24+ auf :2+4)\sin2—7r > 2.
2m

Hence the method is stable for all A > 0 (A7 > 0).

Algorithm  (Crank—Nicolson)

start: Choose m, vmay; calculate Ax, AT
w® =y(z:,0) (0<i<m)
LR-decomposition (or RL-decomposition) of A
loop: for v =0,1,..., Vmax — 1 :
¢:=Bw™") 40 (preliminary boundary conditions 0)
Solve Az = ¢ (using the LR/RL-decomposition)

wth =g

4.4 Boundary Conditions

Since the initial conditions are active only for the interval z.,;, < = < Zgmax, boundary
conditions

y(z, 7) for Tpin and Tymax, oOr
wo,, and Wy, , for v =1, ..., Umax

are needed to make the problem well-posed. These boundary conditions are artificial and
have an influence on the accuracy of numerical solutions.

In the S-world, the GBM assumption for S; implies
S0)=0 = S;=0forallt
S(0) 00 = S;large forall ¢t <T.

Hence for all ¢
Ve(S,t) =0 for S=0, and

Vp(S,t) =0 for S — o00.
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We use these boundary conditions as approximations also for Sy, &~ 0 and Sy.x large.
And for the transformed z-values, provided —x i, = —x¢ and Tyax = T, are large enough,

as well:
call: “left” (S=0) V=0, ie wy, =0forallv
put: “right” (S —o00) V=0, ie. wy, =0forallv

So far, the argumentation holds for both European and American options. Now we turn to
the question, what are reasonable V-values on the other ends of the interval?

We begin with European options, and apply the put-call parity
Vo = Vo — Se?T™H 4 e n(T—1),
This yields the boundary conditions at the other ends:
Va(S,t) = Se 0T — KTt for § — oo
Vp(S,t) = Ke "= — 6e=0(T=t)  for § 0.
After the transformation (S,t) — (z,7) the asymptotic behavior is:
y(x,7) =ri(z,7) for t — —o0, y(z,7)=ro(z, 1) for x — oo, with
call: ri(z,7):=0, ra(z,7):=exp(%(gs+ 1)z + (g5 +1)°7)
put: 7i(z,7):=exp (i(gs — D)z + (g5 — 1)*7), ra(z,7):=0
For the finite interval a := xpmim < ¢ < Tmax =: b, 71,72 are the dominating terms of the
boundary conditions and can be used as approximations. Accordingly, we choose
Wo,p = T1 (CL, TU)

Wi,y = 12(b, 7)) .

These boundary conditions are of Dirichlet-type. In the Crank—Nicolson scheme the bound-
ary conditions lead to the additional terms

2 wous1 = —2 ra(a, )

2 wO,V—‘,—l — 2 ria, Ty41
A
5 Wo,y = 5 ™ (CL, TU)

and
A w = ——r9(b,Tyy1)

9 m,v+1 — 9 2\Yy Tv41

A A

5 W, = 5 TQ(ba 7-1/)7

which are represented by the vector

ri(a, Ty4+1) + 7r1(a, 1) wWo,py + Wo,p+1
0 0
dW) .— A : _A :
T2 : 2 :
0 0

T2(67 Tl/+1) + T2(b7 7_11) W, v + wm,l/—‘,—l
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In the Crank—Nicolson algorithm the right-hand side of the system of equations is now
¢ := Bw") +d™;

the matrix A is unchanged.

We still need to specify the boundary conditions (b.c.) for American-style options on
the “other” side, namely, left-hand b.c. for the put and right-hand b.c. for the call.

4.5 Early-Exercise Structure — Free-Boundary Problems

For a better understanding of American options a further analysis of the solution structure
is helpful.
Basics (for the put under the Black—Scholes model)
a) V(S,t) is continuous, V' > 0, and V — 0 for S — oo.
b) For r >0and all t < T
VEN0,t) = Ke "™ Y < K,

which implies: There is a S* = S*E4(¢) such that VE"(S*,t) = K — S*.

possible European option for t<T

|
|

|

|

h

S

. R\

|

| N

|

% - s
0 S K

possible American option for t<T
payoff function for t=T

¢) Vp is monotonic decreasing w.r.t. S, and convex. [R.C. Merton: Theory of Rational
Option Pricing (1973)]

Hence S* is unique.
d) Vg > (K — S)* and V'™ < K.

Assertion 1
Also for the American put with r > 0 there is an S* > 0, such that V'™ (S*,t) =
K — S*.

Proof:

Assume: Vlﬁm > K —Sforall §>0.
Then
—VAM L K-S <0,

i.e., exercising the put leads to a loss for all S. Accordingly, early exercise does not
make sense, and hence V™ = V. Consequently,

Vet =1 > K - S,
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for all S > 0, which contradicts the implication of b).
Redefine S* := max{ S | VA™(S,t) = K — S.}
Byc)andd), V=K — S for all S < 5*.
It remains to investigate the behavior of V' for § > S*.
Assertion 2
The right-hand side derivative of the function V2™ (S,¢) at S* has the value —1.

Proof (outline):
We use the notation V := Vlﬁm, and g—‘g stands for the right-hand derivative.

v (s*
0

For the right-hand derivative 5 Do« 1is impossible, because otherwise for S > S*

o AV (S*.t)
the property d) is violated. Hence =5z~ > —1.
Assumption:
oV (S*,t) S
oS

We lead this to a contradiction as follows:
Build a portfolio: II :=V + S, with initial wealth

r:=v+5.
(= K; borrow from the bank the amount K.) For our GBM
dS =rSdt+oSdW
assume that dt is so small that \/dt > dt. If dt is small enough, then (intuitively)
dW >0 <+ dS>0.

The Ito-Lemma leads to

o1l

M=(... s
dIl = (...)dt + Zz0S AW
)%
= SASE :
O(dt)+<as+ )anW

For dS > 0 this is positive for sufficiently small d¢ because dW > 0.
For dS < 0 the wealth of the portfolio is II = K and hence dII = 0.

In summary: E(dIT) > 0, and E(dII) is of the order O(+v/dt). Sell the portfolio after dt
and expect the following balance
IT* + E(dIT) — Ke™¥ =V + §* + E(dIl) — K (1 + O(dt))
= E(dII) 4+ O(dt)

This is positive because E(dII) dominates, hence an arbitrage, and we have arrived at
a contradiction to the no-arbitrage principle.
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Often related proofs use an argument of maximizing the value of the option. In this way,
the perpetual option (an option that does not expire) can be analyzed, see the exercises.

In summary, for an American put the following holds:
(1) V(S*,t) = K — S* (Dirichlet b.c.)
(2) W = —1 (Neumann b.c.)
3) V(S,t) > K -8 forS>S5*
4)V(S;t)=K—-S forS<S§*

The property (2) is called high contact, or smooth pasting.

Such an S* exists for each ¢. This defines a function, which we denote S¢(¢). The “f” stands
for free boundary.

The curve Sg(t) cuts the half strip into two parts, namely,
1.) S > S, called continuation region of the put.
2.) S < S, called stopping region of the put.

For standard options without discrete dividend payments, these domains are simply con-

nected. The curve Sg(t) is the interface.
t t

put call
T T
stop stop
5 continue continue S
S S $ (T) S

Early-Exercise Curve

The curve S¢(t) is the early-exercise curve by the following reasons:

1.) In case Vp > (K — S)T, exercising amounts to —V + K — S < 0. This is a loss.
Consequently, the holder continues to hold the option.

2.) In case the price S passes the curve, S < S¢(t), then immediate exercising makes sense
(“stopping”), because the amount K can be invested, leading for » > 0, ¢t < T to the
profit:

Ke'T=t — K = K(e"T=t) — 1),

By exercising, the final balance of Ke"(T~%) is larger than Se®(™ %) at least for r(T —
t) < 1.

Free-Boundary Problem means:

The Black—Scholes equation is valid only in the continuation region, not in the stopping
region. Hence the domain for the BS equation for an American-style put is

Sf(t><S<OO.
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The left-hand boundary St(t) is “free” in the sense that it is unknown initially. It is

calculated numerically, based on the additional boundary condition provided by the

contact condition g—‘g = —1. This condition fixes the location of S(t).

The properties of a call are derived analogously.

Important Properties of the early-exercise curve in case of a put under the Black—Scholes
model (continuous dividend rate é > 0 possible, but discrete dividend here excluded!) are:

1.) Sg(t) is continuously differentiable for ¢t < T'.
2.) Sg(t) is monotonic increasing.
3.)

Se(T) = lim Si(t) =

K fir0<d<r
LK fiirr <6

Proof of 3.) (notation V = Vitm)
VAm > VE implies S¢(t) < S*°%(t) < K for all t < T. Hence S;(T) < K .
Notice that V' > W implies
GVéf, t) <0

for t = T. To prepare for some indirect proofs, we first study for S¢(7) < K how the
BS equation is consistent with the sign of %—‘t/. At t =T and for S¢(T) < S < K

V(S,T)=K — 8

holds, and the BS equation is

ov

§+0—(r—5)5—ﬂ/:0
T
ov(S,T) =rK —§S.
ot

We will check for which combinations of (d,7) the sign of %i’T) is consistent with
ov
S < 0.
Case 6 >r
Here $K < K. Then either S¢(T) = 5K (the assertion), or there exists one of two

open intervals (i) S¢(T) < K and (ii) 5K < S¢(T).

(i) For S in the interval S¢(T) < S < 5K we have 8Vf9§’T) =rK —-05 >0, a
contradiction to

ov
ot
(ii) For each S in the interval 3 K < S < S¢(T') there is a small d¢ such that (S, T—dt)

is in the stopping region. The inequality K < .5 holds, and thus r Kdt < §Sdt,
which leads to

<0.

K™t —1) < §(e’ —1).
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Since S < K, this means that in case of stopping of the option for the time
interval dt the dividend yield is larger than the return of investing K at the
risk-free rate. Hence early exercise is not optimal, which is in conflict with the
meaning of S < S¢(t).

Hence S¢(T') = 5K holds in case § > r.

Case 6 <r

Assume S¢(T)) < K. Then for S in the interval S¢(7) < S < K a contradiction is

obtained from
ov

9 K68,
ot N——

For a call with § > 0 but without discrete dividend:
1.) Sg(t) is continuously differentiable for t < T'.
2.) S¢(t) is monotonic decreasing.
3.)
Se(T) := lim S(t) = max {K, gK}

t—T
t<T

Remark: In case of discrete dividend payment the above assertions must be modified. In
particular, S¢ then is not continuous! For example, for an American put early exercise is
not optimal within a certain time interval before ex-dividend date.

4.6 Linear Complementarity

We need a numerical method that does not use the unknown St explicitly.
A. Inequality

As argued above, for American-style options the Black—Scholes equation does not hold in
the entire half strip 0 < ¢t < T, 0 < S, but only in the continuation region. Now, what
happens in the stopping region?

With the notation:

1 0%V oV

_ 1 2¢2 _5ne?Y _
Lps(V): 57 S 557 +(r 5)585 rV
the Black—Scholes equation can be written
oV
E + LBs(V) =0.

For for a put and S < St the identity V = W holds, so

2
voros Wy PV, v

55 952 =0
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hence %
e + Lps(V) =05 —rK.

For S < S¢(T") we conclude
in case r < 9: S < 5K, hence 65 —rK <0
incaser >6: 05 —rK <r(S— K) <0 because S < K
and thus
ov

vy + Lps(V) <O0.

For a call the same result follows by analogous arguments.

In summary for all S >0, 0 <t <T the partial differential inequality

66—‘15/ + Lps(V) <0
holds, both for put and call.
Overview
put: Ve =K — S for S < S
V™ solves the BS equation for S > Sg
. OV(Sgt
contact condition: % =-1

call: VCAm =S—-K forS>5;
V&A™ solves the BS equation for S < S
OV (St, t)

=1
08

contact condition:
The second derivative of V' with respect to S is not continuous at S¢. That is, the value
function V' is smooth in the interior of the continuation region, but not on the entire half
strip.

Remark: The transformation of Section 4.1 leads to

oV Oy 0%y
5 TLes(V)=—5"+ 53"

B. Formulation with Penalty Term

A unified treatment of %—‘{ + Lps(V) < 0 on the entire half strip is possible. To this end,
introduce a suitable function p(V') > 0 requiring the penalty PDE

ov

9t + Lps(V) +p(V) =0
to hold. The penalty term p should be 0 in the continuation region, and positive in the
stopping region. The distance to St is not known, but the distance V — W of V' to the payoff
U is available and is used as control. One example of a penalty function is

p(V) =

€

V0 for a small e > 0.
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Let V.(S,t) denote the solution of the penalty PDE. Two extreme cases characterize the
effect of the penalty term for (S,¢) in the continuation area and in the stopping area:

o V. — U > e implies p = 0. Then essentially the Black—Scholes equation results.

e 0 < V.-V « eimplies a large value of p, which means that the BS-part of the equation
is dominated by p. The BS equation is switched off, and V. ~ .

The corresponding branches of the solution V. may be called the “continuation branch”
(p =~ 0) and the “stopping branch” (V. =~ ¥). Obviously these two branches approximate
the true solution V' of the Black—Scholes problem. The intermediate range V., — ¥ ~ O(¢)
characterizes a boundary layer between the continuation branch and the stopping branch.
In this layer around the early-exercise curve St the solution V. can be seen as a connection
between the BS surface and the payoff plane.®

Remarks: p and the resulting PDE are nonlinear in V. An implementation that avoids
V. < V¥ is not easy; not every choice of € or At will be successful.

Penalty methods are powerful in general. But for the relatively simple situation of
the single-asset American option, a more elegant solution is possible. We shall describe this
approach next.

C. Simple Obstacle Problem

Consider an “obstacle” ¢ satisfying®

g > 0 for a subinterval of — 1<z <1,g€ C? ¢” <0, g(—1) <0 and g(1) < 0.

u(x)

9(x)

T T T T X
-1 a B 1

A function v € C! with minimal length, and with u(—1) = u(1) = 0 and u > g for the g of
the figure can be characterized as follows: There is «, § such that

—“l<z<a: v =0 (u>g)
a<zx<f: u=g W =g"<0)
b<x<l: u

This expresses a complementarity in the sense of

in case u — ¢ > 0, then v” =0,

in case u — g = 0, then u” <0.

@ This is illustrated in Topic 9, see the Topics for CF on the homepage www.compfin.de;
Topic 9 also also illustrates the penalty function p.

b This and other parts of this chapter were inspired by [P. Wilmott, J. Dewynne, S. How-
ison: The Mathematics of Financial Derivatives].



Seydel: Course Notes on Computational Finance, Chapter 4 (Version 2015) 80

For options, the analogy is

in case V. — WU >0, then V + Lps(V) =0,
in case V — W =0, then V + Lps(V) <0.

For the simple obstacle problem an equivalent formulation is

Find a function u such that
u//(u_g) :07 _UH 207 u_gZO7 (*)
u(—1) =u(l) =0, u € C'[-1,1].

In this version, o and 8 do not occur explicitly. After the numerical solution, the values of

a and (B will become apparent. The problem (%) is a linear complementarity problem
(LCP); it has the form

A-B=0, A>0, B>0, for suitable A, B.

For a numerical solution of the simple obstacle problem we use the grid

2
r; = —1+iAzx, Ax:= i g(z;) .

This leads to the discrete form of the obstacle problem

(wi—1 — 2w; + wiy1)(w; —gi) =0,
—W;—1 + 2w; — wiy1 > 0, forO<i<m
w; — g; > 0

with wy = w,, = 0. Correspondingly we define

2 -1 0
1 ) ) wy g1
G:=1] ' ’ and w := , §:i=

Wy o
1 2 ! m—1

to rewrite the linear complementarity problem in vector notation:

(w=9g)"Gw =0
Gw >0
w—g >0

D. Complementarity of the Black—Scholes Problem

Specifically for the American put let us formulate the transformed problem

2
% = % as long as Vp™ > (K — 9)F
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as LCP. This requires to transform also the side conditions:

Ve (S, t) > (K = S)*F
= K max{l —e*,0}

with ¢ = % leads to (here specially for § = 0):

y(z,7) > exp{i(g— D)z + (¢ + 1)2r} max{1 — e, 0}
= exp{ (g + 1)>r} max{(1 — e")ez (@~ 17 0}
= eXP{%(q +1)%7} max{e%(q_l)w _ e%(q+1)m, 0}
=: g(z, 7).

It turns out that both the boundary- and the initial conditions can be written with this g:

y(x7 0) - g(x7 0)
y(xmina T) = g(xmina T)

y(xma)u 7_) = g(xrnaxa T)

Now the linear complementarity problem for the American put is written

(5L-22) w-9-0

or 0x2
oy 0%y
=27
or 0x? — 0
y—9g=>0)

with boundary- and initial conditions as stated above.

This formulation is identical to that one for the general case  # 0, except for an adapted g:

2r 2(r —0)
9= =, $b6=——>5
o

)

o2
put: (r>0) g(z,7):= exp{%((% — 1)2 +4q)T} max{eé(q‘s_l)m - e%(q“’l)x, 0}

call: (6 >0) g(z,7):=exp{i((gs —1)*+4q)7} max{e%(%ﬂ)x —ezlas— 1), 0}

Remark: For an American call without dividend and r > 0, ¢t < T', the equality Vé*m =
VAU holds.  Proof for § = 0:

vam >y > g - Ke TN 5 § K

Hence VCAm >payoff; no early exercise.
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4.7 Numerical Realization

A. Discretization
Now we discretize the LCP-problem with the grid from Section 4.2B:

Wivtl = Wiy _ o Witlwl = 2W; 1+ W1 41
AT N Az?
1 _ gy Wity — 2w; p + wi—1,
( - ) Ax2

+

(“theta method”), with 6 = 0 (explicit method), § = £ (Crank—Nicolson) or § = 1 (BTCS-

method). With the notation A := (AA—;)Q the inequality % — % > 0 becomes

Wi pt1 — A(Wig1,041 — 2W5 pp1 + Wim1,041)
—wiy, — A1 = 0)(wit1,, — 2w, +wi—1,) > 0.

(%)

Ordering these terms leads to define for the v-level terms
bi,z/ = Wiy + )\(1 — 9)(102'4_1’1, — 2wi,y + wi—l,y), for 1 = 2, e, — 2.
The boundary conditions are included in by, and b,,—1 ,:

biy = w1, + A1 —0)(w2,, — 2wi ., + go,v) + Ago,u+1
bm—l,y = Wm—1,v + /\(]- - 0>(gm,u - 2wm—1,u + wm—Q,y) + Aegm,u—kl ’

where
Giv = g(x'le/) (O <1< m, 0<v< Vmax)~

This completes the vector
b(y) = (bl,l/7 SRR bm—l,u)ir

and analogously, w*), ¢*). With the matrix

142X —\0 0
A]| M c R(m—1x(m—1)
LT =M
0 A 1+ 2)0

the problem (%) is reformulated as
Aw® ) > ™) for all v.

And y — g > 0 reads
w®) > g(V),

and finally (% - %) (y — g) = 0 becomes

(Aw(”“) _ b(u))”” (w<"+1> _ g<u+1)> _o
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This constitutes the following macro-algorithm:

Algorithm

For v =0,1, ..., Vpmax — 1 :
compute g := g(”+1), b:=b"), as above;
compute w as solution of
Aw—-0>0, w>g, (Aw—-"b)"(w—g)=0. (x%)

set w1 = w

For each time level v the LCP (%) must be solved. This topic is analyzed next.

Assertion

With the transformation x := w — g and y := Aw — b the LCP (xx) is equivalent to

Compute vectors z,y, such that for bi=b— Ag the following holds:
Az —y=0b, >0, y>0, z'y=0

(s % %)
Notice that in this context z,y are general vectors € IR™ .
Proof: Apply the transformation.

Lemma

The problem (x x %) has a unique solution.

Proof:
1.) Define

G(z) := —a" Az — bz
with the A from above,

2 -1 0

A=1+ X0
. oo =1
0 -1 2
By Lemma 2 of Section 4.2D the eigenvalues of the matrix A are
pi =14 N4sin?(kr/2m)>1, k=1,....m—1

So the symmetric matrix A is positive definite. Differentiating G w.r.t. = yields

G, =Az—b, Guu=A,
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which shows that A is the Hessian matrix of G. For G € C? recall
G is strictly convex. <= The Hessian matrix of G is positive definite.
Hence the quadratic form G defined above is strictly convex and has a unique minimum
on each convex subset of RY, N = m — 1. Notice that z > 0 defines a convex set.
2.) Apply the Theorem of Karush, Kuhn, Tucker (KKT):

For the minimum x* of a convex function G under the side conditions H;(z) < d;
for i+ = 1,..., N, where H; are convex, the following holds: There are y; > 0
such that

G (z*) OH, (z*) OHn (z*)
6xj +y1 6xj +.“+yN axj

with H,;(z*) < d; and y;(H;(z*) —d;) =0fori=1,...,N.
(references include [Stoer & Witzgall], [Strang])

In our application, N = m —1. Inequality x > 0Oorz; > 0forall:=1,...,m—1 leads
to d; = 0 and H;(z) = —x; . The Theorem of KKT implies the existence of y > 0 with

oG  oH;  0G

=0
e, "V an, oz, ¥

and y;x; = 0 for all 7. For our special G we conclude
G, =Az—-b — Ax—l;—y:()

Hence (x x %) results from the KKT-Theorem and processes a unique solution. This then
carries over to (x).

B. Numerical Solution

A direct solution of (k%) is possible. Brennan & Schwartz suggest to proceed as follows:

Solve Aw = b componentwise such that

the side condition w > g is obeyed.

This is a somewhat vague outline of an approach: the implementation matters. It is based
on the Gaussian elimination, which in its first phase transforms Aw = b into an equivalent
system Aw = b, so that A is a triangular matrix (here bidiagonal). Then, in the second
phase, the above principle of Brennan & Schwartz can be solved with one loop. When A
is upper triangular, then this loop to solve Aw = b is a backward recursion. For a lower
triangle A, the loop is forward. If in the ith step of the loop w; denotes the component of
the solution of Aw = b, then w; := max{wW;, g;} appears to be a realization.

But w depends on the loop’s order. Only one direction works. An implementation
must make sure that the characteristic structure of the option is matched. For a put this
means:



Seydel: Course Notes on Computational Finance, Chapter 4 (Version 2015) 85

Let i be the index of the node S; that is closest to the contact point*, where V' touches
the payoff. Or more definitely, in the transformed variables,

w; = g; for i <14, and

w; > g; for if < i < m.
This structure is known from the theory, but i is unknown. For the put, w; = g1 is the
starting point, and the w; := max{w;, g;}-loop is forward. Hence A must be a lower triangle,
which amounts to an RL-decomposition of A. This establishes the lower triangle A := L,

and b is solution of Rb = b. The first components of the loop will be w; = g¢;, until the first
index with w; > g;. This fixes the index is.

Algorithm  (put)

1st phase: Calculate the RL-decomposition of A. Then set A = L and obtain b
from Rb = b (backward loop).

2nd phase: forward loop, start with ¢ = 1. Calculate the next component
of Aw = b; denote it ;.
Set w; := max{w;, g;}.

The costs are low (solution of a linear system with tridiagonal matrix). It can be shown
that the above procedure for a standard option with the underlying matrix A works well.

For a call one proceeds the other way: The loop starts with w,, = ¢, and the second
phase is a backward loop. To make this possible, in the first phase the “traditional” LR-
decomposition of A establishes an upper triangle A = R, and b is obtained from Lb = b in
a foward loop.

Remark on the accuracy:

Since V(S,t) fails to be twice continuously differentiable w.r.t. S at S¢(t), we expect
some bad influence on the accuracy. (Recall that Crank—Nicolson even assumes y €
C*.) But in spite of this lack of smoothness, the Crank-Nicolson approach here is
sufficiently accurate, oscillations diminish rapidly. The lack of smoothness in the
payoff is worse. Even extrapolation works rather well, although the assumptions of
smoothness are not satisfied.

* provided the chosen interval is large enough, S < St
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Outlook

This concludes the introduction in basic Computational Finance. An essential part of the
course are the exercises (down-loadable), in particular the programming assignments.

If this is the material for one semester, then there will be more time left for some
additional topics. (In my course, typically, there are two weeks left.) This additional
material is not included in these course notes, because it will differ from course to course,
depending on the interests and the knowledge of the students. For a textbook explaining
additional material, see [Seydel: Tools for Computational Finance, Sixth Edition (2017)],
from which we take the following section numbers. Possible topics include

as further analytic method the integral equation of Kim (§4.8.4)

upwind scheme and its relevance (§6.4 — 6.5)

a penalty method in the two-dimensional case (§6.7)

case studies, such as the two-dimensional tree method of Exercise 6.2

jump diffusion (§1.9, §7.3)

If there is enough time for a two-semester course or an accompanying seminar, then
one may address

e finite elements (Chapter 5)
e nonlinear Black—Scholes problems (§7.1 — 7.2)



